
MATHS

BOOKS - CENGAGE MATHS (ENGLISH)

INDEFINITE INTEGRATION

Illustration

1. Evaluate:
∫
(1 + x)3

√x
dx

.

Watch Video Solution

2. Evaluate
∫
2x+ 1 - 5x - 1

10x

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jMpO6FrNtxwU
https://dl.doubtnut.com/l/_Uub3YyQncFWx
https://dl.doubtnut.com/l/_it91bOpybQDv


3. Evaluate ∫sec2xcosec2xdx.

Watch Video Solution

4. Evaluate ∫
1 - cosx
1 + cosx

dx.

Watch Video Solution

5. Evaluate ∫
1

1 + sinx
dx.

Watch Video Solution

6. Evaluate:
∫ tan - 1 1 - cosx
2 + cos2x

Watch Video Solution

{√( )}

7. Evaluate:
∫
secx

secx + tanx
dx

.

https://dl.doubtnut.com/l/_it91bOpybQDv
https://dl.doubtnut.com/l/_3jCPbpE7Rfss
https://dl.doubtnut.com/l/_yHsIHBllX882
https://dl.doubtnut.com/l/_qrEbWLCOSBYb
https://dl.doubtnut.com/l/_IeizhTjdgMNs


Watch Video Solution

8. Evaluate ∫
1 - x2

1 + x2dx.

Watch Video Solution

9. ∫cos3x dx =

Watch Video Solution

10. Evaluate: ∫
8x + 13

√4x + 7
 dx

Watch Video Solution

11. Evaluate:
∫
1

√3x + 4 - √3x + 1
dx

.

Watch Video Solution

https://dl.doubtnut.com/l/_IeizhTjdgMNs
https://dl.doubtnut.com/l/_4t9RxDf9Gdew
https://dl.doubtnut.com/l/_tqvHhAkAoM07
https://dl.doubtnut.com/l/_hQ4V10QqUEem
https://dl.doubtnut.com/l/_zCDOW8SnhUX6


12. Evaluate: ∫sin4x dx

Watch Video Solution

13. Evaluate ∫sin2xsin3xdx.

Watch Video Solution

14. Evaluate:
∫
dx

(2x - 7)(x - 7)(x - 4)

Watch Video Solution

15. Find the values of a and b
such that ∫
dx

1 + sinx
= tan

x
2

+ a + b

Watch Video Solution

( )

https://dl.doubtnut.com/l/_zCDOW8SnhUX6
https://dl.doubtnut.com/l/_ko7RiHXkqSjA
https://dl.doubtnut.com/l/_jEDH7ij3t7kY
https://dl.doubtnut.com/l/_vJW1rPdTOoD4
https://dl.doubtnut.com/l/_jPeXPXtOoPc9


16. Evaluate the following: 

(i) ∫
sec2x

3 + tanx
dx (ii) ∫

ex - e - x

ex + e - xdx 


(iii) ∫
1 - tanx
1 + tanx

dx (iv) ∫
1

1 + e - xdx

Watch Video Solution

17. Evaluate the following : 

(i) ∫ x +
1
x

3 / 2 x2 - 1

x2 dx (ii) ∫
√2 + logx

x
dx 


(iii) ∫
sin - 1x 3

√1 - x2
dx (iv) ∫

cotx

√sinx
dx

Watch Video Solution

( ) ( )
( )

18. Evaluate: ∫
sin2x

a2sin2x + b2cos2x
 dx

Watch Video Solution

https://dl.doubtnut.com/l/_gvezU4f97OYE
https://dl.doubtnut.com/l/_Gi5ZPBGYTXbK
https://dl.doubtnut.com/l/_sOHra5N3ygqr
https://dl.doubtnut.com/l/_Cj2QiNe8VpZ4


19. Evaluate ∫
1

1 - tanxdx

Watch Video Solution

20. Evaluate:
∫
log tan

x
2

sinx
dx

Watch Video Solution

( ( ))

21. Evaluate:
∫ tan4xdx

Watch Video Solution

22. Evaluate:
∫secpxtanxdx

Watch Video Solution

https://dl.doubtnut.com/l/_Cj2QiNe8VpZ4
https://dl.doubtnut.com/l/_QNXu7iirbMxO
https://dl.doubtnut.com/l/_zHJVyOrisOtH
https://dl.doubtnut.com/l/_y7PXbu2zhYRz


23. Evaluate ∫
loge x + √x2 + 1

√x2 + 1
dx.

Watch Video Solution

( )

24. Evaluate:
∫
2x - √sin - 1x

√1 - x2
dx

.

Watch Video Solution

25. Evaluate ∫ x6 + x4 + x2 √2x4 + 3x2 + 6dx.

Watch Video Solution

( )

26. Evaluate ∫sin2xd(tanx).

Watch Video Solution

https://dl.doubtnut.com/l/_z2fkLGst87Er
https://dl.doubtnut.com/l/_yVt3QbDONwv9
https://dl.doubtnut.com/l/_jDvUrYTjWEta
https://dl.doubtnut.com/l/_nZ0eb6UIxpUE
https://dl.doubtnut.com/l/_5H8DJWizcmIT


27. Evaluate:
∫{1 + 2tanx(tanx + secx)}
1
2dx

Watch Video Solution

28. Evaluate the following integration 

∫ tanxtan2xtan3xdx

Watch Video Solution

29. Evaluate ∫ tanxtan(x + 1)dx.

Watch Video Solution

30. Evaluate:
∫
1

√3sinx + cosx
dx

Watch Video Solution

https://dl.doubtnut.com/l/_5H8DJWizcmIT
https://dl.doubtnut.com/l/_xc92Uq56pkjz
https://dl.doubtnut.com/l/_VKSkfocKtkGE
https://dl.doubtnut.com/l/_KpWgLTLyQYww


31. Evaluate: ∫
1

sin(x - a)sin(x - b)
 dx

Watch Video Solution

32. Evaluate ∫
dx

√1 - x2 1 + √1 - x2

.

Watch Video Solution

( )

33. Evaluate:
∫
dx

a2 + x2
3

2

Watch Video Solution

( )

34. Evaluate:
∫
1

x2 + 2x + 2 2
dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_SxNKPL5EoGp8
https://dl.doubtnut.com/l/_DMovNzudhSJZ
https://dl.doubtnut.com/l/_mhEohUIQkcCY
https://dl.doubtnut.com/l/_XVGO7Ejuq7Hq


35. Evaluate ∫
dx

x3 + 3x2 + 3x + 1 √x2 + 2x - 3

Watch Video Solution

( )

36. Evaluate:
∫
1
x

1 - √x

1 + √x
dx

Watch Video Solution

√

37. Evaluate:
∫sin ex d ex

Watch Video Solution

( ) ( )

38. Evaluate ∫cos3x√sinxdx.

Watch Video Solution

https://dl.doubtnut.com/l/_bRotifqcYK6y
https://dl.doubtnut.com/l/_wiAigpQcz850
https://dl.doubtnut.com/l/_haGfPxIb5a2K
https://dl.doubtnut.com/l/_y0kSR91AxZra


39. Evaluate: ∫222x
⋅ 22x

⋅ 2xdx

Watch Video Solution

40. Evaluate:
∫
e√xcos e√x

√x
dx

Watch Video Solution

( )

41. Find
∫
ex(1 + x)

cos2 xex
dx

Watch Video Solution

( )

42. ∫5x+ tan - 1x
⋅

x2 + 2

x2 + 1
dx.

Watch Video Solution

( )

https://dl.doubtnut.com/l/_RkOgoWb53PMC
https://dl.doubtnut.com/l/_jpjjV7nwyfXw
https://dl.doubtnut.com/l/_3W9GFzy4a0SU
https://dl.doubtnut.com/l/_Dqgw0PNLJur4


43. Evaluate:

sin3xdx

cos4x + 3cos2x + 1 tan - 1(secx + cosx)

Watch Video Solution

( )

44. Evaluate:
∫
e
x

x
+

x
e

x
1nxdx

.

Watch Video Solution

(( ) ( ) )

45. Evaluate ∫
1

√e5x
4

e2x + e - 2x 3
.

Watch Video Solution

√( )

46. Find ∫sin5xdx.

Watch Video Solution

https://dl.doubtnut.com/l/_TeK8Icreiave
https://dl.doubtnut.com/l/_ggtVkvHSSrhr
https://dl.doubtnut.com/l/_GfLao08xJCtj
https://dl.doubtnut.com/l/_AJ7YI5JxmS4p


47. Find ∫sin3xcos5xdx.

Watch Video Solution

48. Find ∫
dx

sinxcos3x
.

Watch Video Solution

49. Evaluate:
∫
dx

x2 x4 + 1
3
4

Watch Video Solution

( )

50. Evaluate ∫
dx

x2√1 + x2
.

Watch Video Solution

https://dl.doubtnut.com/l/_YWvRAf1hijN9
https://dl.doubtnut.com/l/_brt22kVL3qCe
https://dl.doubtnut.com/l/_VMsMp04hJJFn
https://dl.doubtnut.com/l/_c9f1Io1CGe93


51. Evaluate:
Evaluate:
∫x - 11 1 + x4 -
1
2dx

Watch Video Solution

( )

52. Evaluate ∫
1 + x4

1 - x4 3 / 2
dx.

Watch Video Solution

( )

53. Evaluate:
∫
1

(x - 1)3(x + 2)5
1

4

dx

Watch Video Solution

[ ]

54. Evaluate:
∫
1

x2 - x + 1
dx

Watch Video Solution

https://dl.doubtnut.com/l/_ppFI6JmRXXJ0
https://dl.doubtnut.com/l/_EiqHhdIZxSgq
https://dl.doubtnut.com/l/_zNAguLUP1GEu
https://dl.doubtnut.com/l/_vQ7VtTqn5Vnp
https://dl.doubtnut.com/l/_GSYNCGFuA74G


55. Evaluate:
∫
1

2x2 + x - 1
dx

Watch Video Solution

56. Evaluate:
∫
cosx

sin x -
π

6 sin x +
π

6

dx

Watch Video Solution

( ) ( )

57. Evaluate:
∫
x

x4 + 2x2 + 3
dx

Watch Video Solution

58. Evaluate:
∫
2x + 1

x4 + 2x3 + x2 - 1
dx

Watch Video Solution

https://dl.doubtnut.com/l/_GSYNCGFuA74G
https://dl.doubtnut.com/l/_jrQQzmbcX8zh
https://dl.doubtnut.com/l/_Uhg0ABXJdEYK
https://dl.doubtnut.com/l/_e2MCPsWQVr7U


59. Evaluate ∫
dx

1 + x2 √1 - x2
.

Watch Video Solution

( )

60. Evaluate: ∫
4x + 1

x2 + 3x + 2
 dx

Watch Video Solution

61. Evaluate:
∫
x2 + 1

x4 + 1
dx

Watch Video Solution

62. Evaluate: ∫
x2 - 1

x4 + x2 + 1
 dx

Watch Video Solution

https://dl.doubtnut.com/l/_bXS7Goal6me3
https://dl.doubtnut.com/l/_t2YX8TKSiWY8
https://dl.doubtnut.com/l/_dUVN98oMGrUd
https://dl.doubtnut.com/l/_mAcoBM82Y6aV


63. Evaluate:
∫
x2 + 4

x4 + 16
dx

Watch Video Solution

64. Evaluate: ∫√tanθdθ

Watch Video Solution

65. Evaluate:
∫
1

√(x - 1)(x - 2)
dx

Watch Video Solution

66. Evaluate:
∫
sec2x

√tan2x + 4
dx

Watch Video Solution

https://dl.doubtnut.com/l/_EDy3tS1MNyaT
https://dl.doubtnut.com/l/_QMa94LkXk1Ob
https://dl.doubtnut.com/l/_IuazKe5nv6Jv
https://dl.doubtnut.com/l/_DQZ3HdS94ddJ


67. Evaluate: (i) ∫
ex

√4 - e2x
 dx
(ii) ∫

x2

√1 - x6
 dx

Watch Video Solution

68. Evaluate ∫
tanxdx

√2 + 3tan2x
.

Watch Video Solution

69. Evaluate: ∫√secx - 1 dx

Watch Video Solution

70. Evaluate: ∫
1 + x
x  dx

Watch Video Solution

√

https://dl.doubtnut.com/l/_GS5IwYoOKHCO
https://dl.doubtnut.com/l/_FzrU6O9PCbbI
https://dl.doubtnut.com/l/_sKgcDE9KDZzB
https://dl.doubtnut.com/l/_r3boewnManNO


71. Evaluate:
∫
sinx
sin3x

dx
.

Watch Video Solution

72. Evaluate:
∫
1

3 + sin2x
dx

Watch Video Solution

73. Evaluate ∫
dx

2 + sinx + cosx .

Watch Video Solution

74. Evaluate:
∫
3sinx + 2cosx
3cosx + 2sinx

dx

Watch Video Solution

https://dl.doubtnut.com/l/_YNizhPBy0siY
https://dl.doubtnut.com/l/_Lui5flnwSkTL
https://dl.doubtnut.com/l/_tuTOXp47QvqP
https://dl.doubtnut.com/l/_BrIID84wInGy


75. Evaluate: ∫
1

(x - 3)√x + 1
 dx

Watch Video Solution

76. Evaluate: ∫
1

(x + 1)√x2 - 1
 dx

Watch Video Solution

77. Evaluate:
∫
x2 - 1

x2 + 1 √x4 + 1
dx

Watch Video Solution

( )

78. Evaluate:
∫
1

1 + x2 √1 - x2
dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_uTnOsRRg4X6o
https://dl.doubtnut.com/l/_x0yb9gVwTdf8
https://dl.doubtnut.com/l/_jnp2BtjFN54x
https://dl.doubtnut.com/l/_gmKmVDe17fm0
https://dl.doubtnut.com/l/_NU49oTl2We9W


79. Evaluate ∫
(sinx + cosx)dx

√3 + sin2x
.

Watch Video Solution

80. Evaluate:
∫
sinx

2 + sin2x
dx

Watch Video Solution

81. Evaluate:
∫
2x - 1

(x - 1)(x + 2)(x - 3)
dx

Watch Video Solution

82. Evaluate:
∫
2x

x2 + 1 x2 + 2
dx

Watch Video Solution

( )( )

https://dl.doubtnut.com/l/_NU49oTl2We9W
https://dl.doubtnut.com/l/_rMwGn683yjgT
https://dl.doubtnut.com/l/_kbRNtNDpuQOu
https://dl.doubtnut.com/l/_HzEWpDU4Zh94


83. Evaluate:
∫
1

sinx - sin2x
dx

Watch Video Solution

84. Evaluate:
∫
(x - 1)(x - 2)(x - 3)
(x - 4)(x - 5)(x - 6)dx

Watch Video Solution

85. Evaluate: ∫
x2

x2 + 1 x2 + 4
 dx

Watch Video Solution

( )( )

86. Evaluate:
∫
sinx
sin4x

dx

Watch Video Solution

https://dl.doubtnut.com/l/_OGQ2W6P2MobI
https://dl.doubtnut.com/l/_OKJQXwDLzkkD
https://dl.doubtnut.com/l/_kRJ5XossErDa
https://dl.doubtnut.com/l/_tZuGsgCoYIND


87. Evaluate:
∫
x2 + 1

(x - 1)2(x + 3)
dx

Watch Video Solution

88. Evaluate:
∫
x

(x - 1) x2 + 4
dx

Watch Video Solution

( )

89. Evaluate:
∫
(log)exe

.
loge2e

.
loge3xe

x dx

Watch Video Solution

90. Evaluate ∫xsin3xdx.

Watch Video Solution

https://dl.doubtnut.com/l/_bacRt7eTJG8a
https://dl.doubtnut.com/l/_d421py0LWgCW
https://dl.doubtnut.com/l/_sMyw83AdV9m6
https://dl.doubtnut.com/l/_2pKt0FpbU3hB
https://dl.doubtnut.com/l/_dG9a5HOS8uUF


91. Evaluate ∫xlogxdx.

Watch Video Solution

92. Evaluate ∫sin - 1xdx.

Watch Video Solution

93. Evaluate ∫
x
2
e
x
2
(
2
x
)
d
x
.

Watch Video Solution

94. Evaluate: ∫
x2tan - 1x

1 + x2  dx

Watch Video Solution

95. ∫
x - sinx
1 - cosx

dx

https://dl.doubtnut.com/l/_dG9a5HOS8uUF
https://dl.doubtnut.com/l/_Yq1ilNHcNiEb
https://dl.doubtnut.com/l/_NkHPOlpUZb6a
https://dl.doubtnut.com/l/_xqivEAfyh3vc
https://dl.doubtnut.com/l/_meMskwn5GPCQ


Watch Video Solution

96. Evaluate:
 ∫ (x)ispolynomialfunctionofthenthdegree, provethat -

∫exf(x)dx = ex f(x)f ′ (x) + fx = fx + + ( - 1)nf (n ) (x) 
 Where 

f (n ) (x)de¬es
dnf

dxn

Watch Video Solution

[ ]

97. Evaluate:
∫sin - 1 x
a + x

dx
.

Watch Video Solution

√

98. Evaluate : ∫
loge1 + sin2x

cos2x
dx

Watch Video Solution

https://dl.doubtnut.com/l/_meMskwn5GPCQ
https://dl.doubtnut.com/l/_ztAsveSjqWav
https://dl.doubtnut.com/l/_6o2NzY5vQ46r
https://dl.doubtnut.com/l/_dQLcqDROW8QT


99. Evaluate ∫e2xsin3xdx.

Watch Video Solution

100. Evaluate ∫sin(logx)dx.

Watch Video Solution

101. Evaluate:
∫esin ^ (( - 1)x)dx
.

Watch Video Solution

102. Evaluate:
∫√1 + 3x - x2dx

Watch Video Solution

103. ∫sec3xdx

https://dl.doubtnut.com/l/_uDJibvLDvQtu
https://dl.doubtnut.com/l/_dhELuPmxh2yK
https://dl.doubtnut.com/l/_LVOThDVyQoU5
https://dl.doubtnut.com/l/_W2KzjiaNsld2
https://dl.doubtnut.com/l/_lZiqFHiWBxdv


Watch Video Solution

104. Evaluate: ∫ (x - 5) √x2 + x dx

Watch Video Solution

105. Evaluate ∫
cosx
x

- logxsinx dx.

Watch Video Solution

( )

106. Evaluate ∫ 3x2tan
1
x

- xsec2 1
x

dx.

Watch Video Solution

( )

107. Evaluate:
∫ log(logx) +
1

(logx)2 dx

W h Vid S l i

( )

https://dl.doubtnut.com/l/_lZiqFHiWBxdv
https://dl.doubtnut.com/l/_Qgd0BWDOPjU2
https://dl.doubtnut.com/l/_RbGlqYjdxT8Q
https://dl.doubtnut.com/l/_6JhzinYq2Q0T
https://dl.doubtnut.com/l/_o8E3k5cVqDF1


Watch Video Solution

108. Evaluate:
∫ex
1
x

-
1

x2 dx
.

Watch Video Solution

( )

109. Evaluate: ∫ex  logx +
1

x2  dx

Watch Video Solution

( )

110. Evaluate:
∫x
ex

(x + 1)2dx

Watch Video Solution

111. Evaluate ∫ex
1 - sinx
1 - cosx

dx.

W t h Vid S l ti

( )

https://dl.doubtnut.com/l/_o8E3k5cVqDF1
https://dl.doubtnut.com/l/_VfIbVuvnmTgT
https://dl.doubtnut.com/l/_Uv9jnF96yiiK
https://dl.doubtnut.com/l/_ttg1BLAmMdrk
https://dl.doubtnut.com/l/_wZa7JaCqa6Xw


Example

Watch Video Solution

112. Evaluate ∫
logx

(1 + logx)2 dx.

Watch Video Solution

1. Evaluate: ∫
1

x1 / 2 + x1 / 3  dx

Watch Video Solution

2. Evaluate:
∫
x2 - 1

x4 + 3x2 + 1 tan - 1 x +
1

x

dx

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_wZa7JaCqa6Xw
https://dl.doubtnut.com/l/_rnEhwrlAqzr5
https://dl.doubtnut.com/l/_dJ5OVqnf4e6v
https://dl.doubtnut.com/l/_TvRDpf6k2rLv


3. Evaluate:
∫
1 - √x

1 + √x
dx

Watch Video Solution

√

4. Evaluate ∫
√x2 + 1 loge x2 + 1 - 2logx dx

x4 .

Watch Video Solution

{ ( ) }

5. Evaluate: ∫
(x - 1)2

x4 + x2 + 1
 dx

Watch Video Solution

6. Evaluate:
∫
1 + x2

x2 - x4 dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_aK7SjfvyXe73
https://dl.doubtnut.com/l/_pfT7n7nZUFO2
https://dl.doubtnut.com/l/_uB8x0mzrMksC
https://dl.doubtnut.com/l/_M8yw9SHEMjhD


7. If In = ∫cosnxdx. Prove that In =
1
n

cosn - 1xsinx +
n - 1
n

In - 2.

Watch Video Solution

( ) ( )

8. Evaluate:
∫
(1 - xsinx)dx

x 1 - x3e3cosx

Watch Video Solution

( )

9. Evaluate:
∫
etan ^ -1(x)

1 + x2
sec - 1√1 + x2 2

+ cos - 1 1 - x2

1 + x2 dx(x > 0)
.

Watch Video Solution

( ) [( ) ( )]

10. Evaluate :
∫
2x

1 - x2 √x4 - 1
dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_TpZV89Fz7eUv
https://dl.doubtnut.com/l/_hnnXNL8zjAzk
https://dl.doubtnut.com/l/_KXUR2snRZwQz
https://dl.doubtnut.com/l/_LOtNZ4FdW6hl


11. Evaluate ∫
xdx

x3√x2 - 1
.

Watch Video Solution

12. Evaluate:
∫
3 - x
3 + x

sin - 1 1
6√3 - x dx

Watch Video Solution

√ ( )

13. Evaluate:
∫cos2θln
cosθ + sinθ
cosθ - sinθ

dθ 


Watch Video Solution

( )

14. Evalaute ∫x _ 1 / 2 2 + 3x1 / 3 - 2dx.

Watch Video Solution

( )

https://dl.doubtnut.com/l/_LOtNZ4FdW6hl
https://dl.doubtnut.com/l/_p9AdErAADzyt
https://dl.doubtnut.com/l/_0tAaBgh3ZLFg
https://dl.doubtnut.com/l/_9zyzlqdzxWbE
https://dl.doubtnut.com/l/_9anaRieecJvf
https://dl.doubtnut.com/l/_yNJ1YWT9YKom


15. Evaluate:
∫sin - 1 2x + 2

√4x2 + 8x + 13
dx

Watch Video Solution

( )

16. Evaluate: for m ∈ N, 
∫x3m + x2n + xm 2x2m + 3xm + 6
1

mdx, x > 0

Watch Video Solution

)( )

17. Evaluate ∫
dx

cosx√cos2x
.

Watch Video Solution

18. ∫ sin(101x). sin99x dx equals

Watch Video Solution

( )

https://dl.doubtnut.com/l/_yNJ1YWT9YKom
https://dl.doubtnut.com/l/_7gIEF3bL5DDo
https://dl.doubtnut.com/l/_fNpwJ9vqAlji
https://dl.doubtnut.com/l/_MoiIvMxgqcfm


Concept Application Exercise 7 1

1. Evaluate ∫ (secx + tanx)2dx

Watch Video Solution

2. Evaluate ∫ (1 - cosx)cosec2xdx

Watch Video Solution

3. Evaluate:
∫amxbnxdx

Watch Video Solution

4. Evaluate ∫
tanx

secx + tanx
dx

Watch Video Solution

https://dl.doubtnut.com/l/_L1vp93n2F6dI
https://dl.doubtnut.com/l/_4Ax6BN3C9plZ
https://dl.doubtnut.com/l/_nBCQL5PstsAh
https://dl.doubtnut.com/l/_HYEgNX1e8BET
https://dl.doubtnut.com/l/_Syr5Q1Q3qYCg


5. If
∫
1

x + x5 dx = f(x) + c, the ≠ valuate∫
x4

x + x5 dx
.

Watch Video Solution

6. Evaluate: (i) ∫
x3 + 8 (x - 1)

x2 - 2x + 4
 dx
(ii) ∫ (atanx + bcotx)2 dx

Watch Video Solution

( )

7. Solve the following integration 

∫
sin6x + cos6x

sin2x ⋅ cos2x
dx

Watch Video Solution

8. Evaluate ∫ tan - 1(secx + tanx)dx, - π /2 < x < π /2

Watch Video Solution

https://dl.doubtnut.com/l/_Syr5Q1Q3qYCg
https://dl.doubtnut.com/l/_IucS4GLDX1RT
https://dl.doubtnut.com/l/_iwX4J13j4rpT
https://dl.doubtnut.com/l/_dhIIaCAb4m2f
https://dl.doubtnut.com/l/_wkZtREJCrIvB


Concept Application Exercise 7 2

9. Evaluate: ∫
cos2x - cos2α
cosx - cosα

 dx

Watch Video Solution

1. Evaluate:
∫
dx

√x + √x - 2

Watch Video Solution

2. Evaluate:
∫ 1 + 2x + 3x2 + 4x3 + dx, ( < |x| < 1)

Watch Video Solution

( )

3. Evaluate:
∫
x3

x + 1
dx

Watch Video Solution

https://dl.doubtnut.com/l/_wkZtREJCrIvB
https://dl.doubtnut.com/l/_EmrCL3hIxewh
https://dl.doubtnut.com/l/_jSx0Wi2m7dzF
https://dl.doubtnut.com/l/_iXUq6gHfL3vh


Concept Application Exercise 7 3

4. Evaluate:
∫
e3x + e5x

ex + e - x dx

Watch Video Solution

5. Evaluate ∫ tan2xsin2xdx

Watch Video Solution

6. Evaluate ∫
cosx - sinx
cosx + sinx

(2 + 2sin2x)dx

Watch Video Solution

7. Evaluate ∫sinxcosxcos2xcos4xcos8xdx

Watch Video Solution

https://dl.doubtnut.com/l/_ERSjvoaxTL7T
https://dl.doubtnut.com/l/_nxZIcRK4WSTE
https://dl.doubtnut.com/l/_1Cf9VMOe9CCM
https://dl.doubtnut.com/l/_5Yr1HapkWAij


1. Evaluate ∫
dx

x + xlogx

Watch Video Solution

2. Evaluate ∫
x + 1

x x + logex
dx

Watch Video Solution

( )

3. Evaluate: (i) ∫{1 + tanxtan(x + θ)} dx
(ii) ∫
sin2x

sin x -
π

6 sin x +
π

6

 dx

Watch Video Solution

( ) ( )

4. Evaluate ∫
1 + x2logex

x + x2logex
dx

Watch Video Solution

https://dl.doubtnut.com/l/_pVswk73nOfWj
https://dl.doubtnut.com/l/_lQ81Z6RKpvlN
https://dl.doubtnut.com/l/_AbP5Gtw9S48A
https://dl.doubtnut.com/l/_qIJH7kq44T51
https://dl.doubtnut.com/l/_QiSqmdetKYCz


5. Evaluate:
∫
(1 + 1nx)5

x
dx

Watch Video Solution

6. I = ∫  
loge logex

x logex
dx

Watch Video Solution

( )
( )

7. Evaluate ∫
x + 1
x

(x + logx)2dx

Watch Video Solution

( )

8. Evaluate ∫
√tanx

sinxcosx
dx

Watch Video Solution

https://dl.doubtnut.com/l/_QiSqmdetKYCz
https://dl.doubtnut.com/l/_LnebTBK89Pqj
https://dl.doubtnut.com/l/_S1Nk9JQqAROr
https://dl.doubtnut.com/l/_s2Ve1Ooa7pay
https://dl.doubtnut.com/l/_i3iRKXOnKLjq


9. Evaluate ∫cosec4xdx

Watch Video Solution

10. Evaluate ∫
sin6x

cos8x
dx

Watch Video Solution

11. Evaluate:
∫
dx

(1 + sinx)
1

2

Watch Video Solution

12. Evaluate: ∫
sinx

sin(x - a)
 dx

Watch Video Solution

https://dl.doubtnut.com/l/_i3iRKXOnKLjq
https://dl.doubtnut.com/l/_ICdfYKYuuT2H
https://dl.doubtnut.com/l/_rVxCT1WW2RlJ
https://dl.doubtnut.com/l/_FbnLazWlgbdX


13. Evaluate ∫ tan3xdx

Watch Video Solution

14. Evaluate ∫
dx

cot2x - 1

Watch Video Solution

15. Evaluate:
∫
1

x2√1 + x2
dx

Watch Video Solution

16. I = ∫
dx

2ax + x2
3
2

Watch Video Solution

( )

https://dl.doubtnut.com/l/_sE0uCEAAcvZ2
https://dl.doubtnut.com/l/_ZK6HHTo4VMfY
https://dl.doubtnut.com/l/_0HIMfxN5rCwl
https://dl.doubtnut.com/l/_88iuNJHEwKpr


Concept Application Exercise 7 4

1. ∫
sin2x

(a + bcosx)2dx

Watch Video Solution

2. Evaluate: ∫
x2tan - 1x3

1 + x6 dx

Watch Video Solution

3. Evaluate:
∫
√xdx

1 + x

Watch Video Solution

4. Evaluate ∫
dx

x + √x

Watch Video Solution

https://dl.doubtnut.com/l/_DhcZ91ScyPLK
https://dl.doubtnut.com/l/_hUwxCx5vgHjx
https://dl.doubtnut.com/l/_2p6M8RYcS9Nh
https://dl.doubtnut.com/l/_vwHC83DuLfkE


5. Evaluate:
∫
e2x - 2ex

e2x + 1
dx

Watch Video Solution

6. Evaluate: ∫
1

ex + e - x  dx

Watch Video Solution

7. Evaluate:
∫
log 1 +

1
x

x(1 + x)
dx

Watch Video Solution

( )

8. Evaluate:
∫
ax3 + bx

x4 + c2 dx

Watch Video Solution

https://dl.doubtnut.com/l/_2CGa5NeTFLms
https://dl.doubtnut.com/l/_qqtWLVKwfa6p
https://dl.doubtnut.com/l/_YlSZ23ja4oiY
https://dl.doubtnut.com/l/_0Nr5BsKb9M4h
https://dl.doubtnut.com/l/_yCM8cfRyHDfO


9. Evaluate:
∫
dx

x
2

3 1 + x
2

3

Watch Video Solution

( )

10. Evaluate ∫e3logx x4 + 1 - 1dx

Watch Video Solution

( )

11. Evaluate:
∫
secxdx

√cos2x

Watch Video Solution

12. Evaluate ∫sin3xcos2xdx

Watch Video Solution

https://dl.doubtnut.com/l/_yCM8cfRyHDfO
https://dl.doubtnut.com/l/_W7ezr8Sz4KGS
https://dl.doubtnut.com/l/_Jxhx5GqGRCiy
https://dl.doubtnut.com/l/_zz6R0o8JLvSp


13. Evaluate:
∫
ddx

√1 + x2 + 1 + x2 3

Watch Video Solution

√ ( )

14. Evaluate:
∫
x - x3

1
3

x4 dx

Watch Video Solution

( )

15. Evaluate:
∫
dx

x2 1 + x5
4
5

Watch Video Solution

( )

16. Evaluate:
∫
dx

x2 x4 + 1
3
4

Watch Video Solution

( )

https://dl.doubtnut.com/l/_e70NwI4H5pqN
https://dl.doubtnut.com/l/_VQKvhPfE8Sy1
https://dl.doubtnut.com/l/_fyWbNDkDQSuU
https://dl.doubtnut.com/l/_FgmVIEslSSXA


17. Evaluate: ∫
x4 - x

1 / 4

x5  dx

Watch Video Solution

( )

18. Evaluate:
∫xx1n(ex)dx

Watch Video Solution

19. Evaluate:
∫
dx

(x - p)√(x - p)(x - q)

Watch Video Solution

20. Evaluate:
∫
√1 + x2 + x

n

√1 + x2
dx

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_FgmVIEslSSXA
https://dl.doubtnut.com/l/_UacwQKYkgAyS
https://dl.doubtnut.com/l/_SwcsN8m3ylHM
https://dl.doubtnut.com/l/_gZENATRkRVGN
https://dl.doubtnut.com/l/_2q8CBRVHCKuf


Concept Application Exercise 7 5

1. Evaluate ∫
dx

1 - x - x2

Watch Video Solution

2. Evaluate ∫
x2 - √3x + 1

x4 - x2 + 1
dx

Watch Video Solution

3. Evaluate: ∫
x2

x6 + a6  dx

Watch Video Solution

4. Evaluate: ∫
sinx

cos2x
 dx

Watch Video Solution

https://dl.doubtnut.com/l/_2q8CBRVHCKuf
https://dl.doubtnut.com/l/_Vj7RUnoJcn3q
https://dl.doubtnut.com/l/_tnGtl6LLmym9
https://dl.doubtnut.com/l/_qh7PZPmkN7kP
https://dl.doubtnut.com/l/_3ZjagIFWFBlZ


Watch Video Solution

5. Evaluate:
∫
ex

e2x + 6ex + 5
dx

Watch Video Solution

6. Evaluate ∫
x2 + x + 1

x2 - 1
dx

Watch Video Solution

7. Evaluate:
∫
1

x4 + 1
dx

Watch Video Solution

8. Evaluate:
∫
1

sin4x + cos4x
dx

Watch Video Solution

https://dl.doubtnut.com/l/_3ZjagIFWFBlZ
https://dl.doubtnut.com/l/_W5ekI5jFlmAe
https://dl.doubtnut.com/l/_IQXQWppAQeBd
https://dl.doubtnut.com/l/_Tf0MFem2cEmn
https://dl.doubtnut.com/l/_BvzZocCm4ZxX
https://dl.doubtnut.com/l/_2dAexDANauYk


Concept Application Exercise 7 6

9. Evaluate:
∫
x4 + 1

x6 + 1
dx

Watch Video Solution

1. Evaluate:
∫
x2

√1 - x6
dx

Watch Video Solution

2. Evaluate:
∫
x

a3 - x3dx

Watch Video Solution

√

3. Evaluate:

1

√1 - e2x
dx

W h Vid S l i

https://dl.doubtnut.com/l/_2dAexDANauYk
https://dl.doubtnut.com/l/_Y1RhYacAn5wg
https://dl.doubtnut.com/l/_DjA051RhOxlz
https://dl.doubtnut.com/l/_bIry8G18yt9H


Concept Application Exercise 7 7

Watch Video Solution

4. Evaluate:
∫
2x + 3

√x2 + 4x + 1
dx

Watch Video Solution

5. Evaluate:
∫
x

5
2

√1 + x7
dx

Watch Video Solution

6. Evaluate ∫√1 + cosecxdx, (π /2 < x < π)

Watch Video Solution

https://dl.doubtnut.com/l/_bIry8G18yt9H
https://dl.doubtnut.com/l/_0m1k8hzxFYkg
https://dl.doubtnut.com/l/_znv9s7ef9YhA
https://dl.doubtnut.com/l/_bZMhRbecb2FA


1. Evaluate:
∫
1

3 + sin2x
dx

Watch Video Solution

2. Evaluate:
∫
dx

9 + 16sin2x

Watch Video Solution

3. Evaluate: ∫
x + 1

(x - 1)√x + 2
 dx

Watch Video Solution

4. Evaluate ∫
dx

√1 + ex + e2x

Watch Video Solution

https://dl.doubtnut.com/l/_EqKIwm8ZC5iu
https://dl.doubtnut.com/l/_8yXY7eibgs0U
https://dl.doubtnut.com/l/_nD4ei3RFbIKj
https://dl.doubtnut.com/l/_rwyM4Pbzjx4Z


5. Evaluate:
∫
1

(x + 1)√x2 - 1
dx

Watch Video Solution

6. Evaluate:
∫
x2 - 1

x2 + 1 √x4 + 1
dx

Watch Video Solution

( )

7. Evaluate:
∫
x

x2 + 4 √x2 + 1
dx

Watch Video Solution

( )

8. Evaluate:
∫
1

(x + 1)√x2 + x + 1
dx

Watch Video Solution

https://dl.doubtnut.com/l/_nEHWmSQo9Au8
https://dl.doubtnut.com/l/_6SCP9H3KJxJ4
https://dl.doubtnut.com/l/_5uly00h6UZhS
https://dl.doubtnut.com/l/_Wk1TBTffpP05


Concept Application Exercise 7 8

9. Evaluate: ∫
x - 1

(x + 1)√x3 + x2 + x
dx

Watch Video Solution

10. Evaluate:
∫ √tanx + √cotx dx

Watch Video Solution

( )

1. Evaluate:
∫
1

x2 - 4 √x + 1
dx

Watch Video Solution

( )

2. Evaluate:
∫
x2 + 1

x x2 - 1
dx

( )

https://dl.doubtnut.com/l/_DxmcDOPdH4HN
https://dl.doubtnut.com/l/_00eEyPiQHfcN
https://dl.doubtnut.com/l/_bQwSUkbH0jwG
https://dl.doubtnut.com/l/_oKoZ6gH0LcmC


Watch Video Solution

3. Evaluate:
∫
1

x4 - 1
dx

Watch Video Solution

4. Evaluate: ∫
x3

(x - 1)(x - 2)
 dx

Watch Video Solution

5. Evaluate ∫
dx

sinx 3 + cos2x

Watch Video Solution

( )

6. Evaluate:
∫
cos2xsin4xdx

cos4x 1 + cos22x

Watch Video Solution

( )

https://dl.doubtnut.com/l/_oKoZ6gH0LcmC
https://dl.doubtnut.com/l/_9k3SUFh0ngpz
https://dl.doubtnut.com/l/_6haL11b98hZ5
https://dl.doubtnut.com/l/_wZf3i93Qdx5S
https://dl.doubtnut.com/l/_n59T6ZM5QagH


Concept Application Exercise 7 9

7. ∫
1 - cosx

cosx(1 + cosx)
dx

Watch Video Solution

1. Evaluate ∫xsin2xdx

Watch Video Solution

2. Evaluate ∫cos√xdx

Watch Video Solution

3. Evaluate:
∫ tan - 1√xdx

Watch Video Solution

https://dl.doubtnut.com/l/_n59T6ZM5QagH
https://dl.doubtnut.com/l/_rOtpUbId6SPI
https://dl.doubtnut.com/l/_SvA6E6OuqtZj
https://dl.doubtnut.com/l/_ApLNzztFVXbl
https://dl.doubtnut.com/l/_zFLUHi2DNStD


4. Evaluate:
If ∫ f(x)dx = g(x), then∫ f - 1(x)dx

Watch Video Solution

5. Evaluate:
∫ [f(x)g′ ′ (x) - f′ ′ (x)g(x)]dx

Watch Video Solution

6. Evaluate:
If ∫ f(x)dx = g(x), then∫ f - 1(x)dx

Watch Video Solution

7. Evaluate ∫ logex
2dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_zFLUHi2DNStD
https://dl.doubtnut.com/l/_dL8UfQY6bqzm
https://dl.doubtnut.com/l/_Hh5Q5uttvcpM
https://dl.doubtnut.com/l/_KFlmlsAoNvTL
https://dl.doubtnut.com/l/_AHLqR2ZTZadR


8. ∫
xsin - 1x

√1 - x2
dx

Watch Video Solution

9. Evaluate:
∫ tan - 1 1 - x
1 + x

dx

Watch Video Solution

√

10. Evaluate:
∫cosxlog tan
x
2

dx

Watch Video Solution

( )

11. Evaluate:
∫sin2(logx)dx

Watch Video Solution

https://dl.doubtnut.com/l/_eC4QIbZWeiFe
https://dl.doubtnut.com/l/_IO8yW8iqKBQp
https://dl.doubtnut.com/l/_Er12PnbhKaJ5
https://dl.doubtnut.com/l/_YN3PK4wYH7DN


12. Evaluate:
∫ex 1 + tanx + tan2x dx

Watch Video Solution

( )

13. Evaluate:
∫
ex 2 - x2 dx

(1 - x)√1 - x2

Watch Video Solution

( )

14. Evaluate ∫
logx - 1

1 + (logx)2

2
dx

Watch Video Solution

( )

15. Evaluate ∫√x2 + 2x + 5dx

Watch Video Solution

https://dl.doubtnut.com/l/_jKEyzGoyrGI3
https://dl.doubtnut.com/l/_b3IR9Tv2aGTm
https://dl.doubtnut.com/l/_FI3QTOTDQ3fh
https://dl.doubtnut.com/l/_9lkgRr0dx951


Exercises Single Correct Answer Type

1. I = ∫
sin8x - cos8x

1 - 2sij2xcos2x
dx is equal to:

A. 
1
2

sin2x + C

B. -
1
2

sin2x + C

C. -
1
2

sinx + C

D. - sin2x + C

Answer: B

Watch Video Solution

2. If ∫
cos4x + 1
cotx - tanx

dx = Acos4x + B, then

A. A = - 1/2

B. A = - 1/8

C. A = - 1/4

https://dl.doubtnut.com/l/_gswZ4FglLMZt
https://dl.doubtnut.com/l/_WRQNXw6cC5BZ


D. none of these

Answer: B

Watch Video Solution

3. ∫
a + x
a - x

+
a - x
a + x

dx is equal to

A. 2sin - 1(x /a) + c

B. 2asin - 1(x /a) + c

C. 2cos - 1(x /a) + c

D. 2acos - 1(x /a) + c

Answer: B

Watch Video Solution

(√ √ )

4. ∫√1 + sinxdx is equal to

https://dl.doubtnut.com/l/_WRQNXw6cC5BZ
https://dl.doubtnut.com/l/_IKKlQIy4UrID
https://dl.doubtnut.com/l/_Sw87Jo6sxtaL


A. -2√1 - sinx + C

B. sin(x /2) + cos(x /2) + C

C. cos(x /2) - sin(x /2) + C

D. 2√1 - sinx + C

Answer: A

Watch Video Solution

5. Evaluate:
∫
(3sinx - 2)cosx

5 - cos2x - 4sinx
dx

A. cosx +
1
2cos2x -

1
3cos3x + C

B. cosx -
1
2cos2x -

1
3cos3x + C

C. cosx +
1
2cos2x +

1
3cos3x + C

D. cosx -
1
2cos2x +

1
3cos3x + C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Sw87Jo6sxtaL
https://dl.doubtnut.com/l/_rt5gwj1Xm5Rp


6. If ∫√1 + sinxf(x)dx =
2
3

(1 + sinx)3 / 2 + c, then f(x) equals

A. cosx

B. sinx

C. tanx

D. 1

Answer: A

Watch Video Solution

7. ∫
√x - 1

x√x + 1
dx is equal to

A. In x - √x2 - 1 - tan - 1x + c

B. In x + √x2 - 1 - tan - 1x + c

C. In x - √x2 - 1 - sec - 1x + c

| |
| |
| |

https://dl.doubtnut.com/l/_rt5gwj1Xm5Rp
https://dl.doubtnut.com/l/_nhhHb3j37zWb
https://dl.doubtnut.com/l/_n0OiVIhvDbJg


D. In x + √x2 - 1 - sec - 1x + c

Answer: D

Watch Video Solution

| |

8. IfI = ∫
dx

secx + cosecx , thenIequals

1
2

cosx + sinx -
1

√2
log(cosecx - cosx) + C

1
2

sinx - cosx -
1

√2
log|cosecx + cotx| + C

1

√2
sinx + cosx +

1
2 log|cosecx - cosx|

1
2

[sinx - cosx] -
1

√2
log ∣ cosec x +

π
4

A. 
1
2 cosx + sinx -

1

√2
log(cosecx - cosx) + C

B. 
1
2 sinx - cosx -

1

√2
log|cosecx - cotx| + C

C. 
1

√2
sinx + cosx +

1
2

log|cosecx - cosx| + C

( )
( )

( )
( )

( )
( )

( )

https://dl.doubtnut.com/l/_n0OiVIhvDbJg
https://dl.doubtnut.com/l/_J8AhksIBGJtv


D. 
1
2

[sinx - cosx] -
1

√2
log|cosec(x + π /4) - cot(x + π /4)| + C

Answer: D

Watch Video Solution

9. ∫
sinx

sin x -
π
4

dx is equal to

A. 
1

√2
x + loge cos x -

π
4

+ c

B. 
1

√2
x - loge sin x -

π
4

+ c

C. √2 x + loge sin x -
π
4

+ c

D. 
1

√2
x + loge sin x -

π
4

+ c

Answer: D

Watch Video Solution

( )
( | ( )| )
( | ( )|)
( | ( )| )
( | ( )|)

https://dl.doubtnut.com/l/_J8AhksIBGJtv
https://dl.doubtnut.com/l/_J9kuN5tsWmV8
https://dl.doubtnut.com/l/_j9cgdkBTHhv8


10. Evaluate:
∫
cos5x + cos4x

1 - 2cos3x dx

A. 
sin2x

2 + cosx + c

B. 
sin2x

2 - cosx + c

C. -
sin2x

2 - sinx + c

D. 
sin2x

2 - cosx + c

Answer: C

Watch Video Solution

11. IfI = ∫
5 - x
2 + x

dx, thenIequal
 √x + 2√5 + x + 3sin - 1 x + 2
3

+ C

√x + 2√5 - x + 7sin - 1 x + 2
7

+ C
 √x + 2√5 - x + 5sin - 1 x + 2
5

+ C
 none

of these

A. √x + 2√5 - x + 3sin - 1 x + 2
3

+ C

B. √x + 2√5 - x + 7sin - 1 x + 2
7

+ C

√ √
√ √

√
√

https://dl.doubtnut.com/l/_j9cgdkBTHhv8
https://dl.doubtnut.com/l/_0M6ioSs2JOTM


C. √x + 2√5 - x + 5sin - 1 x + 2
5

+ C

D. non of these

Answer: B

Watch Video Solution

√

12. ∫
sin2x

sin5xsin3x
dx is equal to

A. logsin3x - logsin5x + c

B. 
1
3

logsin3x +
1
5

logsin5x + c

C. 
1
3

logsin3x -
1
5

logsin5x + c

D. 3logsin3x - 5logsin5x + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0M6ioSs2JOTM
https://dl.doubtnut.com/l/_T9Ec56sjQYLw


13. ∫
dx

x xn + 1
 is equal to

A. 
1
n

log
xn

xn + 1
+ c

B. 
1
n

log
xn + 1

xn
+ c

C. log
xn

xn + 1
+ c

D. non of these

Answer: A

Watch Video Solution

( )

( )
( )

( )

14. Evaluate: ∫
1

√sin3xsin(x + α)
 dx,  α ≠ nπ,   n ∈ Z

A. -2cosecα(cosα - tanxsinα)1 / 2 + C

B. -2(cosα + cotxsinα)1 / 2 + C

https://dl.doubtnut.com/l/_kExZfsWm3pcR
https://dl.doubtnut.com/l/_1T8F5iwjJ6rz


C. -2cosecα(cosα - cotxsinα)1 / 2 + C

D. -2cosecα(sinα - cotxcosα)1 / 2 + C

Answer: C

Watch Video Solution

15. ∫
pxp+ 2q - 1 - qxq - 1

x2p+ 2q + 2xp+q + 1
dx is equal to 


(1)   -
xp

xp+q + 1
+ C  


 
(2)   
xq

xp+q + 1
+ C    


(3)   -
xq

xp+q + 1
+ C   


(4)   
xp

xp+q + 1
+ C   

A. -
xp

xp+q + 1
+ C

B. 
xq

xp+q + 1
+ C

C. -
xq

xp+q + 1
+ C

D. 
xp

xp+q + 1
+ C

https://dl.doubtnut.com/l/_1T8F5iwjJ6rz
https://dl.doubtnut.com/l/_AjcZ8LHRnuMr


Answer: C

Watch Video Solution

16. If y = ∫
1

1 + x2
3
2

dx and y = 0 when x = 0 , then value of y when x = 1

is

A. 
1

√2

B. √2

C. 2√2

D. none of these

Answer: A

Watch Video Solution

( )

17. ∫√x 1 + x1 / 3 4
dx is equal to( )

https://dl.doubtnut.com/l/_AjcZ8LHRnuMr
https://dl.doubtnut.com/l/_MZ2InJc75gjJ
https://dl.doubtnut.com/l/_cZoUTMVnuS1F


A. 2 x2 / 3 +
4
11

x11 / 6 +
6
13

x13 / 6 +
4
15

x5 / 2 +
1
17

x17 / 6 + c

B. 6 x2 / 3 -
4
11

x11 / 6 +
6
13

x13 / 6 -
4
15

x5 / 2 +
1
17

x17 / 6 + c

C. 6
1
9
x3 / 2 +

4
11

x11 / 6 +
6
13

x13 / 6 +
4
15

x5 / 2 +
1
17

x17 / 6 + c

D. non of these

Answer: C

Watch Video Solution

{ }
{ }
{ }

18. ∫
In(tanx)
sinxcosx

dx is equal to

A. 
1
2
In(tanx) + c

B. 
1
2
In tan2x + c

C. 
1
2

(In(tanx))2 + c

D. non of these

Answer: C

( )

https://dl.doubtnut.com/l/_cZoUTMVnuS1F
https://dl.doubtnut.com/l/_1MaiGWv8vcTl


Watch Video Solution

19. If m is a non-zero number and ∫
x5m - 1 + 2x4m - 1

x2m + xm + 1 3
dx = f(x) + c, then f(x)

is:

A. 
x6m + x2m

2m x2m + xm + 1 2
+ c

B. 
x4m

2m x2m + xm + 1 2
+ c

C. 
2mx4m

x2m + xm + 1 2
+ c

D. 
mx5m

2 x2m + xm + 1 2
+ c

Answer: B

Watch Video Solution

( )

( )

( )

( )

( )

https://dl.doubtnut.com/l/_1MaiGWv8vcTl
https://dl.doubtnut.com/l/_9oB2SG62vO0r


20. If lr(x) means logloglog....... x being repeated r times, then 

∫ xl(x)l2(x)l3(x).... lr(x)
- 1
dx is equal to :

A. lr+ 1(x) + C

B. 
lr+ 1(x)
r + 1

+ C

C. lr(x) + C

D. non of these

Answer: A

Watch Video Solution

[ ( ]

21. Find ∫ √cotx + √tanx dx

A. √2log √tanx - √cotx + C

B. √2log sinx + cosx + √sin2x + C

C. √2log sinx - cosx + √2sinxcosx + C

[ ]

( )

| |

| |

https://dl.doubtnut.com/l/_Awmtxmo6xHCi
https://dl.doubtnut.com/l/_TxvwDPq4K8bh


D. √2log sin(x + π /4) + √2sinxcosx + C

Answer: B

Watch Video Solution

| |

22. If I = ∫
sin2x

(3 + 4cosx)3dx,  then I equals

A. 
3cosx + 8

(3 + 4cosx)2 + C

B. 
3 + 8cosx

16(3 + 4cosx)2 + C

C. 
3 + cosx

(3 + 4cosx)2 + C

D. 
3 - 8cosx

16(3 + 4cosx)2 + C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TxvwDPq4K8bh
https://dl.doubtnut.com/l/_Ha7zsuyFVvdl


23. ∫
In

x - 1

x+ 1

x2 - 1
dx is equal to

A. 
1
2 In

x - 1
x + 1

2
+ C

B. 
1
2 In

x + 1
x - 1

2
+ C

C. 
1
4 In

x - 1
x + 1

2
+ C

D. 
1
4 In

x + 1
x - 1

Answer: C

Watch Video Solution

( )

( ( ))
( ( ))
( ( ))
( ( ))

24. ∫√ex - 1dx is equal to

A. 2 √ex - 1 - tan - 1√ex - 1 + c

B. √ex - 1 - tan - 1√ex - 1 + c

C. √ex - 1 + tan - 1√ex - 1 + c

[ ]

https://dl.doubtnut.com/l/_PBazSq7DvKxJ
https://dl.doubtnut.com/l/_cqEy02Dqkwkt


D. 2 √ex - 1 + tan - 1√ex - 1 + c

Answer: A

Watch Video Solution

[ ]

25. ∫
x2 + 1

x2 1 - x2
dx =

A. 
1
4

loge

1 - √1 - x4

1 + √1 - x4
+

1
2

sin - 1 x2 + C

B. 
1
2

loge

1 - √1 - x4

1 + √1 - x4
+

1
2

cos - 1 x2 + C

C. 
1
2

loge

1 - √1 - x4

1 + √1 - x4
+ sin - 1 x2 + C

D. loge

1 - √1 - x4

1 + √1 - x4
+

1
2

cos - 1 x2 + C

Answer: A

Watch Video Solution

√ ( )

| | ( )

| | ( )

| | ( )

| | ( )

https://dl.doubtnut.com/l/_cqEy02Dqkwkt
https://dl.doubtnut.com/l/_yGitHFB5V7sn


26. ∫
√x2 + 10x + 24

x + 5
dx is equal to

A. √x2 + 10x + 24 + sec - 1(x + 5) + c

B. √x2 + 10x + 24 - cosec - 1(x + 5) + c

C. sec - 1(x + 5) - √x2 + 10x + 24 + c

D. √x2 + 10x + 24 - sec - 1(x + 5) + c

Answer: D

Watch Video Solution

27. The value of ∫
1 + logx

xx 2 - 1

dx is

A. sec - 1 xx + c

B. tan - 1 xx + c

C. log xx + √x2x - 1 + c

√ ( )

( )
( )

( )

https://dl.doubtnut.com/l/_yGitHFB5V7sn
https://dl.doubtnut.com/l/_N6FKX1gLIwzp
https://dl.doubtnut.com/l/_HKBzlFLlt8sJ


D. cot - 1 xx + c

Answer: A

Watch Video Solution

( )

28. If ∫x5 1 + x3 2 / 3dx = A 1 + x3 8 / 3 + B 1 + x3 5 / 3 + c, then

A. A =
1
4

, B =
1
5

B. A =
1
8

, B = -
1
5

C. A = -
1
8

, B =
1
5

D. non of these

Answer: B

Watch Video Solution

( ) ( ) ( )

29. ∫
sin2x

sin4x + cos4x
dx

https://dl.doubtnut.com/l/_HKBzlFLlt8sJ
https://dl.doubtnut.com/l/_Io1cmwSRGZ1F
https://dl.doubtnut.com/l/_8WGJjWaGZuFE


A. cot - 1 tan2x + c

B. tan - 1 tan2x + c

C. cot - 1 cot2x + c

D. tan - 1 cot2x + c

Answer: B

Watch Video Solution

( )
( )
( )
( )

30. ∫
x + 2

x2 + 3x + 3 √x + 1
dx is equal to

A. 
1

√3
tan - 1 x

√3(x + 1)

B. 
2

√3
tan - 1 x

√3(x + 1)

C. 
2

√3
tan - 1 x

√x + 1

D. non of these

( )

( )
( )
( )

https://dl.doubtnut.com/l/_8WGJjWaGZuFE
https://dl.doubtnut.com/l/_oj9JU8NVosiZ


Answer: B

Watch Video Solution

31. Evaluate the following Integrals : 

∫
secx. dx

√sin(x + 2A) + sinA

A. 
secA

√2 √tanxcosA - sinA + c

B. √2secA√tanxcosA - sinA + c

C. √2secA√tanxcosA + sinA + c

D. non of these

Answer: C

Watch Video Solution

32. ∫
cos2x

e - x + cosx √1 + sin2x
dx, x ∈ 0,

π
2

 is equal to

( ) ( )

https://dl.doubtnut.com/l/_oj9JU8NVosiZ
https://dl.doubtnut.com/l/_0Z5ulzgzHr8Z
https://dl.doubtnut.com/l/_EmUCYyPcFRmQ


A. loge 1 + exsinx + c

B. loge e
x + cosx + c

C. loge 1 + excosx - x + c

D. loge 1 + excosx + c

Answer: D

Watch Video Solution

| |
| |
| |
| |

33. ∫
cos4x - 1

cotx - tanx
dx is equal to

A. 
1
2
In|sec2x| -

1
4

cos22x + c

B. 
1
2
In|sec2x| +

1
4

cos2x + c

C. 
1
2
In|cos2x| -

1
4

cos22x + c

D. 
1
2
In|cos2x| +

1
4

cos2x + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EmUCYyPcFRmQ
https://dl.doubtnut.com/l/_FEQFqJPHjCqY


34. If ∫
dx

x2 xn + 1
n - 1

n

= - (f(x))
1

n + C then f(x) is (A) 1 + xn (B) 1 + x -n (C) 

xn + x -n (D) xn - x -n

A. 1 + xn

B. 1 + x -n

C. xn + x -n

D. non of these

Answer: B

Watch Video Solution

( )

( )

35. ∫
cosx - cos3x

1 - cos3x
dx is equal to

A. 
2
3

sin - 1 cos3 / 2x + C

√
( )

https://dl.doubtnut.com/l/_FEQFqJPHjCqY
https://dl.doubtnut.com/l/_Lg42iNqZtPfi
https://dl.doubtnut.com/l/_LtN27IXnd97K


B. 
3
2

sin - 1 cos3 / 2x + C

C. 
2
3

cos - 1 cos3 / 2x + C

D. non of these

Answer: C

Watch Video Solution

( )
( )

36. ∫x
lna

x

2

3a
5x

2 b3x
+

lnbb ^ x

2a2xb4x dx wherea, b ∈ R + isequa < o

1

6lna2b3a
2xb3x

ln a2xb3x

e
+ k


1

6lna2b3

1

a2xb3x

ln1

ea2xb3x + k

1

6lna2b3
1

a2xb3x ln a2xb3x + k
-
1

6lna2b3
1

a2xb3x ln a2xb3x + k

A. 
1

6Ina2b3a
2xb3xIn

a2xb3x

e
+ k

B. 
1

6Ina2b3
1

a2xb3x In
1

ea2xb3x + k

C. 
1

6Ina2b3
1

a2xb3x In a2xb3x + k

D. -
1

6Ina2b3
1

a2xb3x In a2xb3x + k

(( ) ( )

( )

( ) ( )

( )
( )

https://dl.doubtnut.com/l/_LtN27IXnd97K
https://dl.doubtnut.com/l/_cQ3OKa2lRuzu


Answer: B

Watch Video Solution

37. ∫
3 + 2cosx

(2 + 3cosx)2dx is equal to
(a) 
sinx

3cosx + 2
+ c
 (b) 

2cosx
3sinx + 2

+ c
 (c) 

2cosx
3cosx + 2

+ c
(d) 
2sinx

3sinx + 2
+ c

A. 
sinx

3cosx + 2
+ c

B. 
2cosx

3sinx + 2
+ c

C. 
2cosx

3cosx + 2
+ c

D. 
2sinx

3sinx + 2
+ c

Answer: A

Watch Video Solution

( ) ( )
( ) ( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_cQ3OKa2lRuzu
https://dl.doubtnut.com/l/_4rKmYT4GTU94


38. If
d
dx

f(x) = f′ (x), then ∫
xf′ (x) - 2f(x)

√x4f(x)
dx is equal to

A. 
x2

f(x)
+ c

B. |x|f′ (x) + c

C. 
2√f(x)

|x| + c

D. |x|√f(x) + c

Answer: C

Watch Video Solution

39. The value of the integral ∫
(1 - cosθ)

2
7

(1 + cosθ)
9
7

dθ is


(a)
7
11 tan

θ
2

11

7 + C


(b) 
7
11

cosθ
2

11

7 + C


( )
( )

https://dl.doubtnut.com/l/_nRsN8Pd4dgGB
https://dl.doubtnut.com/l/_YpOMY6sEeymO


(c)
7
11

sinθ
2

11
7 + C


(d)
none of these

A. 
7
11

tan
θ
2

11
7 + C

B. 
7
11

cos
θ
2

11
7 + C

C. 
7
11

sin
θ
2

11
7 + C

D. none of these

Answer: A

Watch Video Solution

( )

( )
( )
( )

40. If ∫
dx

√sin3xcos5x
= a√cotx + b√tan3x + c,  then

A. a = - 1, b = 1/3

B. a = - 3, b = 2/3

C. a = - 2, b = 4/3

https://dl.doubtnut.com/l/_YpOMY6sEeymO
https://dl.doubtnut.com/l/_OaJzjW84EIPj


D. a = - 2, b = 2/3

Answer: D

Watch Video Solution

41. I f∫
dx

cos3x√sin2x
= a tan2x + b √tanx + c

A. a =
√2

5
, b =

1

√5

B. a =
√2

5
, b = 5

C. a =
√2

5
, b = -

1

√5

D. a =
√2

5
, b = √5

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_OaJzjW84EIPj
https://dl.doubtnut.com/l/_5w5VedTrd1MH


42. If ∫
dx

(x + 2) x2 + 1
= alog 1 + x2 + btan - 1x +

1
5

log|x + 2| + C, then

A. a = -
1
10 , b = -

2
5

B. a =
1
10 , b = -

2
5

C. a = -
1
10 , b =

2
5

D. a =
1
10 , b =

2
5

Answer: C

Watch Video Solution

( )
| |

43. If∫
3ex - 5e - x

4ex + 5e - xdx = ax + bln 4ex + 5e - x + C, then
 (a) a = -
1
8

, b =
7
8


 (b) 

a =
1
8

, b =
7
8


(c) a = -
1
8

, b = -
7
8


(d) a =
1
8

, b = -
7
8

A. a = -
1
8

, b =
7
8

B. a =
1
8

, b =
7
8

C. a = -
1
8

, b = -
7
8

( )

https://dl.doubtnut.com/l/_WM3zyLiYQMW6
https://dl.doubtnut.com/l/_zSWmn2U0c9IC


D. a =
1
8

, b = -
7
8

Answer: A

Watch Video Solution

44. If ∫ f(x)sinxcosxdx =
1

2 b2 - a2
lnf(x) + c ,then f(x) is equal to

A. 
1

a2sin2x + b2cos2x

B. 
1

a2sin2x - b2cos2x

C. 
1

a2cos2x + b2sin2x

D. 
1

a2cos2x - b2sin2x

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_zSWmn2U0c9IC
https://dl.doubtnut.com/l/_RCd2JEb1l52E


45. ∫
x9

4x2 + 1 6
dx is equal to

A. 
1
5x

4 +
1

x2

- 5
+ C

B. 
1
5

4 +
1

x2

- 5
+ C

C. 
1
10

1 + 4x2 - 5 + C

D. 
1
10

4 +
1

x2

- 5
+ C

Answer: D

Watch Video Solution

( )

( )
( )
( )

( )

46. If ∫
1

x√1 - x3
dx = alog

√1 - x3 - 1

√1 - x3 + 1
+ b , then a is equal

A. 1/3

B. 2/3

| |

https://dl.doubtnut.com/l/_aKwzJoGljHgg
https://dl.doubtnut.com/l/_1prZTLaI9f5a


C. -1 /3

D. -2 /3

Answer: A

Watch Video Solution

47. The value of the integral ∫ x2 + x x - 8 + 2x - 9
1

10dx
 is


5
11

x2 + 2x
11

10 + c
(b) 
5
6

(x + 1x)
11
10 + c


6
7

(x + 1)
11
10 + c
(d) none of
these

A. 
5
11

x2 + 2x
11 / 10

+ c

B. 
5
6

(x + 1)11 / 10 + c

C. 
6
7

(x + 1)11 / 10 + c

D. none of these

Answer: A

Watch Video Solution

( )( )
( )

( )

https://dl.doubtnut.com/l/_1prZTLaI9f5a
https://dl.doubtnut.com/l/_dMtAEQfjj2KF
https://dl.doubtnut.com/l/_ERTe6FUtaudH


48. ∫
x3dx

√1 + x2
isequa < o


1
3√1 + x2 2 + x2 + C


1
3√1 + x2 x2 - 1 + C

1
3

1 + x2
3
2 + C
(d) 

1
3√1 + x2 x2 - 2 + C

A. 
1
3√1 + x2 2 + x2 + C

B. 
1
3√1 + x2 x2 - 1 + C

C. 
1
3

1 + x2 3 / 2 + C

D. 
1
3√1 + x2 x2 - 2 + C

Answer: D

Watch Video Solution

( ) ( )

( ) ( )

( )
( )

( )
( )

49. If I = ∫
dx

a2 - b2x2 3 / 2
, then I equals

A. 
x

√a2 - b2x2
+ C

B. 
x

a2√a2 - b2x2
+ C

( )

https://dl.doubtnut.com/l/_ERTe6FUtaudH
https://dl.doubtnut.com/l/_11ApKnlC6Gnq


C. 
ax

√a2 - b2x2
+ C

D. none of these

Answer: B

Watch Video Solution

50. ∫
x4 - 1 dx

x2√x4 + x2 + 1

A. x2 +
1

x2 + 1 + C

B. 
√x4 + x2 + 1

x2 + C

C. 
√x4 + x2 + 1

x
+ C

D. none of these

Answer: A

Watch Video Solution

( )

√

https://dl.doubtnut.com/l/_11ApKnlC6Gnq
https://dl.doubtnut.com/l/_fY8jwebyyEgZ


51. ∫
√x2 + 1

x4 dx =

A. -
1
3

x2 + 1 3 / 2

x3 + C

B. x3 x2 + 1 - 1 / 2 + C

C. 
√x2 + 1

x2 + C

D. -
1
3

x2 + 1
3 / 2

x2 + C

Answer: A

Watch Video Solution

( )

( )

( )

52. ∫
1 + 2x6

1 - x6 3 / 2
dx is equal to

A. 
2x

√1 + x6
+ c

( )

https://dl.doubtnut.com/l/_fY8jwebyyEgZ
https://dl.doubtnut.com/l/_DvbomBI7xliv
https://dl.doubtnut.com/l/_uBX2vkwWzHHT


B. 
1

1

x2 - x4
+ c

C. 
x

1

x2 - x4
+ c

D. 
x2 + x

√1 - x6
+ C

Answer: B

Watch Video Solution

√

√

53. The integral ∫
2x12 + 5x9

x5 + x3 + 1 3
. dx is equal to-

A. 
x10

2 1 + x3 + x5 4
+ c

B. 
x2 + 2x

x5 + x3 + 1 4
+ c

C. 
x10

2 x5 + x3 + 1 2
+ c

[ ]

( )

( )

( )

https://dl.doubtnut.com/l/_uBX2vkwWzHHT
https://dl.doubtnut.com/l/_yxhz9Kz2Rhb4


D. 
2x10

x5 + x3 + 1 3
+ c

Answer: C

Watch Video Solution

( )

54. If In = ∫ (lnx)ndx then In + nIn - 1

A. 
(In x)n

x
+ C

B. x(In x)n - 1 + C

C. x(In x)n + C

D. none of these

Answer: C

Watch Video Solution

55. ∫ex{f(x) - f′ (x)}dx = ϕ(x), then ∫exf(x)dx is

https://dl.doubtnut.com/l/_yxhz9Kz2Rhb4
https://dl.doubtnut.com/l/_AuLKuwAk9V61
https://dl.doubtnut.com/l/_HynD7UhRBNDZ


A. ϕ(x) = exf(x)

B. ϕ(x) - exf(x)

C. 
1
2

ϕ(x) + exf(x)

D. 
1
2

ϕ(x) + exf′ (x)

Answer: C

Watch Video Solution

{ }
{ }

56. For x > 1, ∫sin - 1 2x

1 + x2 dx is equal to

A. xtan - 1x - In sec tan - 1x + c

B. xtan - 1x + In sec tan - 1x + c

C. xtan - 1x - In cos tan - 1x + c

D. none of these

Answer: D

( )
| ( )|
| ( )|
| ( ) |

https://dl.doubtnut.com/l/_HynD7UhRBNDZ
https://dl.doubtnut.com/l/_6cSJc7CBe8gK


Watch Video Solution

57. If ∫x
ln x + √1 + x2

√1 + x2
dx = a√1 + x2ln x + √1 + x2 + bx + c then

A. a = 1, b = - 1

B. a = 1, b = 1

C. a = - 1, b = 1

D. a = - 1, b = - 1

Answer: A

Watch Video Solution

( ( ) ) ( )

58. If∫xlog 1 +
1
x

dx = f(x)log(x + 1) + g(x)x2 + Ax + C, 
then
f(x) =
1
2
x2
 (b)

g(x) = logx
A = 1
(d) none of these

A. f(x) =
1
2
x2

( )

https://dl.doubtnut.com/l/_6cSJc7CBe8gK
https://dl.doubtnut.com/l/_PVl0VtpjKPya
https://dl.doubtnut.com/l/_Atm7nSwdX9YJ


B. g(x) = logx

C. A = 1

D. none of these

Answer: D

Watch Video Solution

59. If I = ∫e - xlog ex + 1 dx, thenIequal
 a + e - x + 1 log ex + 1 + C

a + ex + 1 log ex + 1 + C
a - e - x + 1 log ex + 1 + C
none of these

A. x + e - x + 1 log ex + 1 + C

B. x + ex + 1 log ex + 1 + C

C. x - e - x + 1 log ex + 1 + C

D. none of these

Answer: C

Watch Video Solution

( ) ( ) ( )
( ) ( ) ( ) ( )

( ) ( )
( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_Atm7nSwdX9YJ
https://dl.doubtnut.com/l/_Kxb3wvj6mGFN


60. If ∫xexcosxdx = aex(b(1 - x)sinx + cxcosx) + d,  then

A. a = 1, b = 1, c = - 1

B. a =
1
2

, b = - 1, c = 1

C. a = 1, b = - 1, c = 1

D. a =
1
2

, b = 1, c = - 1

Answer: B

Watch Video Solution

61. ∫xsinxsec3xdx is equal to

A. 
1
2

sec2x - tanx + c

B. 
1
2

xsec2x - tanx + c

C. 
1
2

xsec2x + tanx + c

D. 
1
2

sec2x + tanx + c

[ ]
[ ]
[ ]
[ ]

https://dl.doubtnut.com/l/_Kxb3wvj6mGFN
https://dl.doubtnut.com/l/_KDawRpEAD6lV
https://dl.doubtnut.com/l/_Ot828d3brv07


Answer: B

Watch Video Solution

62. ∫etan - 1x 1 + x + x2 d cot - 1x  is equal to
 (a) -etan - 1x + c
 (b) etan - 1x + c

(c) -xetan - 1x + c
(d) xetan - 1x + c

A. -etan - 1x + c

B. etan - 1x + c

C. -xetan - 1x + c

D. xetan - 1x + c

Answer: C

Watch Video Solution

( ) ( )

63. ∫ex
2tanx

1 + tanx
+ cot2 x +

π
4

dx is equal to( ( ))

https://dl.doubtnut.com/l/_Ot828d3brv07
https://dl.doubtnut.com/l/_feroPQ6MO3YZ
https://dl.doubtnut.com/l/_BmAgxffLKKAy


A. extan
π
4

- x + c

B. extan x -
π
4

+ c

C. extan
3π
4

- x + c

D. none of these

Answer: B

Watch Video Solution

( )
( )
( )

64. ∫ex
4
x + x3 + 2x5 ex

2
dx is equal to

A. 
1
2
xex

2
ex

4
+ c

B. 
1
2
x2ex

4
+ c

C. 
1
2
ex

2
ex

4
+ c

D. 
1
2
x2ex

2
ex

4
+ c

Answer: D

( )

https://dl.doubtnut.com/l/_BmAgxffLKKAy
https://dl.doubtnut.com/l/_6Q5nYJ8OzUmd


Watch Video Solution

65. The value of integral ∫ex
1

√1 + x2
+

1

1 + x2 5
dxisequa < o

ex
1

√1 + x2
+

1

1 + x2 3
+ c
 ex

1

√1 + x2
-

1

1 + x2 3
+ c

ex
1

√1 + x2
+

1

1 + x2 5
+ c
none of these

A. ex
1

√1 + x2
+

x

1 + x2 3
+ c

B. ex
1

√1 + x2
-

x

1 + x2 3
+ c

C. ex
1

√1 + x2
+

x

1 + x2 5
+ c

D. none of these

( √( ) )
( √ ( ) ) ( √ ( ) )
( √ ( ) )

( √ ( ) )
( √( ) )
( √ ( ) )

https://dl.doubtnut.com/l/_6Q5nYJ8OzUmd
https://dl.doubtnut.com/l/_fCCEsc0k0x49


Answer: A

Watch Video Solution

66. ∫ex
x2 + 1

(x + 1)2 dx is equal to

A. 
x - 1
x + 1 ex + c

B. ex
x + 1
x - 1 + c

C. ex(x + 1)(x - 1) + c

D. none of these

Answer: A

Watch Video Solution

( )

( )
( )

67. ∫
x + 2
x + 4

2
exdx is equal to( )

https://dl.doubtnut.com/l/_fCCEsc0k0x49
https://dl.doubtnut.com/l/_OZopZIIwfuMB
https://dl.doubtnut.com/l/_fdP0zmIMuzUg


A. ex
x

x + 4
+ c

B. ex
x + 2
x + 4

+ c

C. ex
x - 2
x + 4

+ c

D. 
2xe2

x + 4
+ c

Answer: A

Watch Video Solution

( )
( )
( )

( )

68. ∫etanx(secx - sinx)dx is equal to

A. etanxcosx + C

B. etanxsinx + C

C. -etanxcosx + C

D. etanxsecx + C

Answer: C

https://dl.doubtnut.com/l/_fdP0zmIMuzUg
https://dl.doubtnut.com/l/_uObJbPeSGHCv


Watch Video Solution

69. ∫
cosec2x - 2005

cos2005x
. dx

A. 
cotx

(cosx)2005 + c

B. 
tanx

(cosx)2005 + c

C. 
- (tanx)

(cosx)2005 + c

D. none of these

Answer: D

Watch Video Solution

70. ∫ 1 + 2x2 +
1
x

ex
2 -

1
xdx is equal to (a) -xex

2 -
1
x + c
 (b) xex

2 -
1
x + c
 (c) 

(2x - 1)ex
2 -

1
x + c
(d) (2x + 1)ex

2 -
1
x + c

A. -xex
2 -

1
x + c

( )

https://dl.doubtnut.com/l/_uObJbPeSGHCv
https://dl.doubtnut.com/l/_scmzKMiy10PN
https://dl.doubtnut.com/l/_whwa2u9IBsLz


B. xex
2 -

1
x + c

C. (2x - 1)ex
2 -

1
x + c

D. (2x + 1)ex
2 -

1
x + c

Answer: B

Watch Video Solution

71. ∫esin - 1x
logex

√1 - x2
+

1
x dx is equal to

A. logex ⋅ e
sin - 1x + c

B. 
esin - 1x

x
+ c

C. - logex ⋅ e
sin - 1x + c

D. esin - 1x logex +
1
x

+ c

Answer: A

Watch Video Solution

( )

( )

https://dl.doubtnut.com/l/_whwa2u9IBsLz
https://dl.doubtnut.com/l/_XWfzhDIlKuXR


72. Ifxf(x) = 3f2(x) + 2, then∫
2x2 - 12xf(x) + f(x)

(6f(x) - x) x2 - f(x)
2
dx
 equal.


1

x2 - f(x)
+ c
 (b) 

1

x2 + f(x)
+ c


1
x - f(x)

+ c
(d) 
1

x + f(x)
+ c

A. 
1

x2 - f(x)
+ c

B. 
1

x2 + f(x)
+ c

C. 
1

x - f(x)
+ c

D. 
1

x + f(x)
+ c

Answer: A

Watch Video Solution

( )

73. The value of ∫
ax2 - b dx

x c2x2 - ax2 + b
2

 is equal to

A. 
1
c sin - 1 ax +

b
x + k

( )
√ ( )

( )

https://dl.doubtnut.com/l/_XWfzhDIlKuXR
https://dl.doubtnut.com/l/_Rm7VvZ5qm8od
https://dl.doubtnut.com/l/_QYnrCEQOWXpe


B. csin - 1 a +
b
x

+ k

C. sin - 1
ax +

b

x

c
+ k

D. none of these

Answer: C

Watch Video Solution

( )

( )

74. The value of ∫
dx

1 + √x √x - x2

 is equal to

A. 
1 + √x

(1 - x)2 + c

B. 
1 + √x

(1 + x)2 + c

C. 
1 - √x

(1 - x)2 + c

D. 
2 √x - 1

√(1 - x)
+ c

( )( )

( )

https://dl.doubtnut.com/l/_QYnrCEQOWXpe
https://dl.doubtnut.com/l/_dRODpOEKNlZJ


Answer: D

Watch Video Solution

75. ∫
2sinx

3 + sin2x
 dx

A. 
1
2

In
2 + sinx - cosx
2 - sinx + cosx

-
1

√2
tan - 1 sinx + cosx

√2
+ c

B. 
1
2

In
2 + sinx - cosx
2 - sinx + cosx

-
1

2√2
tan - 1 sinx + cosx

√2
+ c

C. 
1
4

In
2 + sinx - cosx
2 - sinx + cosx

-
1

√2
tan - 1 sinx + cosx

√2
+ c

D. none of these

Answer: C

Watch Video Solution

| | ( )
| | ( )
| | ( )

https://dl.doubtnut.com/l/_dRODpOEKNlZJ
https://dl.doubtnut.com/l/_9i0zBxUhom5i


76. 4∫
√a6 + x8

x dxisequal → 
 (a)√a6 + x8 +
a3

2 ln
√a6 + x8 + a3

√a6 + x8 - a3
+ c
 (b) 

a6ln
√a6 + x8 - a3

√a6 + x8 + a3
+ c
 (c)√a6 + x8 +

a3

2 ln
√a6 + x8 - a3

√a6 + x8 + a3
+ c
 (d) 

a6ln
√a6 + x8 + a3

√a6 + x8 - a3
+ c

A. √a6 + x8 +
a3

2 In
√a6 + x8 + a3

√a6 + x8 - a3
+ c

B. a6In
√a6 + x8 - a3

√a6 + x8 + a3
+ c

C. √a6 + x8 +
a3

2 In
√a6 + x8 - a3

√a6 + x8 + a3
+ c

D. a6In
√a6 + x8 + a3

√a6 + x8 - a3
+ c

Answer: C

Watch Video Solution

| |
| | | |
| |

| |
| |

| |
| |

https://dl.doubtnut.com/l/_jA6RN7gf6KSt
https://dl.doubtnut.com/l/_tdj2NlVUu7u8


Exercises Multiple Correct Answers Type

77. IfIm ,n = ∫cosmxsinnxdx, then7I4 , 3 - 4I3 , 2isequa < o
 constant (b) 

-cos2x + C
-cos4xcos3x + C
(d) cos7x - cos4x + C

A. constant

B. -cos2x + C

C. -cos4xcos3x + C

D. cos7x - cos4x + C

Answer: C

Watch Video Solution

1. Evaluate:∫
dx

√2ex - 1
=

A. 2sec - 1√2ex + c

B. -2tan - 1 1

√2ex - 1
+ c

https://dl.doubtnut.com/l/_tdj2NlVUu7u8
https://dl.doubtnut.com/l/_YGmex8s9nn3y


C. 2sec - 1 √2ex + c

D. 2tan - 1√2ex - 1 + c

Answer: A::B::D

Watch Video Solution

( )

2. If ∫sinxd(secx) = f(x) - g(x) + c,  then

A. f(x) = secx

B. f(x) = tanx

C. g(x) = 2x

D. g(x) = x

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_YGmex8s9nn3y
https://dl.doubtnut.com/l/_M8O0Zx2gScmH


3. ∫√1 + cosecxdxequals
 2sin - 1√sinx + c
 (b) √2cos - 1√cosx + c

c - 2sin - 1(1 - 2sinx)
cos - 1(1 - 2sinx) + c

A. 2sin - 1√sinx + c

B. √2cos - 1√cosx + c

C. c - 2sin - 1(1 - 2sinx)

D. cos - 1(1 - 2sinx) + c

Answer: A::D

Watch Video Solution

4. If l = ∫sec2xcosec4xdx = Acot3x + Btanx + Ccotx + D, 
 then
 A = -
1
3


 (b) 

B = 2
C = - 2
(d) none of these

A. A = -
1
3

B. B = 2

C. C = - 2

https://dl.doubtnut.com/l/_FLBTuThwKIor
https://dl.doubtnut.com/l/_hdgxBNYwJ469


D. none of these

Answer: A::C

Watch Video Solution

5. A curve g(x) = ∫x27 1 + x + x2 6 6x2 + 5x + 4 dx
 is passing through

origin. Then

(a)g(1) =
37

7 
(b) g(1) =
27

7 
g( - 1) =
1
7 
(d) g( - 1) =

37

14

A. g(1) =
37

7

B. g(1) =
27

7

C. g( - 1) =
1
7

D. g( - 1) =
37

14

Answer: A::C

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_hdgxBNYwJ469
https://dl.doubtnut.com/l/_EPjxsvXmqvPR
https://dl.doubtnut.com/l/_S62hKMfbHVc6


6. If ∫
√x 5

√x 7 + x6
dx = alog

xk

1 + xk
+ c then a and k are

A. k = - 2, f(x) = cot - 1x, g(x) = √cosecx - 1

B. k = - 2, f(x) = tan - 1x, g(x) = √cosecx - 1

C. k = 2, f(x) = tan - 1x, g(x) =
cotx

√cosecx - 1

D. k = 2, f(x) = cot - 1x, g(x) =
cotx

√cosecx + 1

Answer: B::D

Watch Video Solution

( )
( ) ( )

7. If I = ∫
sinx + sin3x

cos2x dx = Pcosx + Qlog|f(x)| + R, 
 then
 P =
1
2 , Q = -

3

4√2

(b) P =
1
4

, Q =
1

√2

f(x) =

√2cosx + 1

√2cosx - 1

(d) f(x) =

√2cosx - 1

√2cosx + 1

A. P = 1/2, Q = -
3

4√2

B. P = 1/4, Q = -
1

√2

https://dl.doubtnut.com/l/_S62hKMfbHVc6
https://dl.doubtnut.com/l/_H2bVleXPNNtq


C. f(x) =
√2cosx + 1

√2cosx - 1

D. f(x) =
√2cosx - 1

√2cosx + 1

Answer: A::C

Watch Video Solution

8. If ∫
ex - 1

x2 - 5x + 4
2xdx = AF(x - 1) + BF(x - 4) + C and F(x) = ∫

ex

x
dx, then

A. A = - 2/3

B. B = (4/3)e3

C. A = 2/3

D. B = (8/3)e3

Answer: A::D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_H2bVleXPNNtq
https://dl.doubtnut.com/l/_VRfGIdjMGaGU
https://dl.doubtnut.com/l/_rK8ApLqDTgeV


9. If ∫x2e - 2x = e - 2x ax2 + bx + c + d then

A. a = -
1
2

B. b =
1
2

C. c = -
1
4

D. d ∈ R

Answer: A::C::D

Watch Video Solution

( )

10. If∫
x4 + 1

x6 + 1
dx = tan - 1f(x) -

2
3

tan - 1g(x) + C, then
 both f(x)andg(x)
 are odd

functions
 f(x)
 is monotonic function
 f(x) = g(x)
 has no real roots

∫
f(x)
g(x)

dx = -
1
x

+
3

x3 + c

A. both f(x) and g(x) are odd functions

B. f(x) is one-one function

C. f(x) = g(x) has no real roots

https://dl.doubtnut.com/l/_rK8ApLqDTgeV
https://dl.doubtnut.com/l/_4E8xPRv5W4xL


D. ∫
f(x)
g(x)

dx =
1
x

+
3

x3 + c

Answer: A::C::D

Watch Video Solution

11. If ∫
x2 - x + 1

x2 + 1
3
2

exdx = exf(x) + c, then (a) f(x) is an even function
(b) f(x) is

a bounded function
(c) the range of f(x) is (0, 1)
(d) f(x) has two points of

extrema

A. f(x) is an even function

B. f(x) is a bounded function

C. the range of f(x) is (0, 1]

D. f(x) has two points of extrema

Answer: A::B::C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_4E8xPRv5W4xL
https://dl.doubtnut.com/l/_AaBJc0L9HJJx


12. If ∫
cos4x + 1
cotx - tanx

dx = Af(x) + B,  then

A. A = -
1
8

B. B =
1
2

C. f(x) has fundamental period 
π
2

D. f(x) is an odd function

Answer: A::C

Watch Video Solution

13. If ∫sin - 1xcos - 1xdx = f - 1(x)

π
2
x - xf - 1(x) - 2√1 - x2 + 2x + C, then

f(x) = sinx
(b) f(x) = cosx
A =
π
4 
(d) A =

π
2

A. f(x) = sinx

B. f(x) = cosx

C. A =
π
4

[ ]

https://dl.doubtnut.com/l/_W0nGv62AcrcV
https://dl.doubtnut.com/l/_LKZ3b8ZirJYN


D. A =
π
2

Answer: A::D

Watch Video Solution

14. If f(x) = ∫
x8 + 4

x4 - 2x2 + 2
dxandf(0) = 0, then
 f(x)
 is an odd function
 f(x)
has

range R
f(x)
has at least one real root
f(x)
is a
monotonic function.

A. f(x) is an odd function

B. f(x) has range R

C. f(x) has at least one real root

D. f(x) is a monotonic function

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_LKZ3b8ZirJYN
https://dl.doubtnut.com/l/_q7DGaWcpEfAk


15. If ∫
dx

x2 + ax + 1
= f(g(x)) + c,  then

A. f(x) is inverse trigonometric function for |a| < 2

B. f(x) is logarithmic function for |a| > 2

C. g(x) is quadratic function for |a| < 2

D. g(x) is rational function for |a| > 2

Answer: A::B::D

Watch Video Solution

16. If ∫
1 - x7

x 1 + x7
dx = aloge|x| + bloge x

7 + 1 + c,  then

A. a = 1

B. a = - 1

C. b =
2
7

D. b = -
2
7

( )
| |

https://dl.doubtnut.com/l/_pE2vrcQO2HtV
https://dl.doubtnut.com/l/_RuLdwkkrYtM8


Exercises Linked Comprehension Type

Answer: A::D

Watch Video Solution

17. If ∫
3sinx + 2cosx
3cosx + 2sinx

dx = ax + bloge|2sinx + 3cosx| + c then
 a. a = -
12
13


 b. 

b =
6
13 
c. a =

12
13 
d. b = -

15
39

A. a = -
12
13

B. b =
6
13

C. a =
12
13

D. b = -
15
39

Answer: C::D

Watch Video Solution

https://dl.doubtnut.com/l/_RuLdwkkrYtM8
https://dl.doubtnut.com/l/_FGuxFz3aLV5M


1. y = f(x) is a polynomial function passing through point (0, 1) and which

increases in the intervals (1, 2) and (3, ∞) and decreases in the intervals 

(∞, 1) and (2, 3).  


If f(1) = - 8,  then the value of f(2) is

A. -3

B. -6

C. -20

D. -7

Answer: D

Watch Video Solution

2. y = f(x) is a polynomial function passing through point (0, 1) and which

increases in the intervals (1, 2) and (3, ∞) and decreases in the intervals 

( - ∞, 1) and (2, 3).  


https://dl.doubtnut.com/l/_VYhfk0in95ru
https://dl.doubtnut.com/l/_qCeMotwbtftN


If f(1) = - 8,  then the range of f(x) is (a) [3, ∞)
 (b) [ - 8, ∞)
 (c) [ - 7, ∞)
 (d) 

( - ∞, 6]

A. [3, ∞)

B. [ - 8, ∞)

C. [ - 7, ∞)

D. ( - ∞, 6]

Answer: B

Watch Video Solution

3. y = f(x) is a polynomial function passing through point (0, 1) and which

increases in the intervals (1, 2) and (3, ∞) and decreases in the intervals 

(∞, 1) and (2, 3).  

If f(x) = 0 has four real roots, then the range of values of leading

coefficient of polynomial is

A. [4/9, 1/2]

https://dl.doubtnut.com/l/_qCeMotwbtftN
https://dl.doubtnut.com/l/_GxWYLKBrjMjE


B. [4/9, 1]

C. [1/3, 1/2]

D. none of these

Answer: A

Watch Video Solution

4. If A is square matrix and eA is defined as 

eA = I + A +
A2

2!
+
A3

3!
+ ... =

1
2

f(x) g(x)
g(x) f(x)

,  where 


A =
x x
x x

and 0 < x < 1, I is an identity matrix. 


∫ (g(x) + 1)sinxdx is equal to

A. log ex + e - x + c

B. log ex - e - x + c

C. log e2x - 1 + c

D. none of these

[ ]
[ ]

( )
| |
| |

https://dl.doubtnut.com/l/_GxWYLKBrjMjE
https://dl.doubtnut.com/l/_lFZy5Aoz2n3v


Answer: A

Watch Video Solution

5. If A is a square matrix and ea is defined as 

eA = 1 +
A2

2!
+
A3

3!
.......... . ∞ =

1
2

[f(x), g(x) and g(x), f(x)],  where 

A =
x x
x x .  and I being the identity matrix then ∫

g(x)
f(x) dx =

A. 
ex

2
(sinx - cosx)

B. 
e2x

5 (2sinx - cosx)

C. 
ex

5
(sin2x - cos2x)

D. none of these

Answer: B

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_lFZy5Aoz2n3v
https://dl.doubtnut.com/l/_qAHhBrwOOA6r


6. If A is square matrix and eA is defined as 

eA = I + A +
A2

2!
+
A3

3!
+ ... =

1
2

f(x) g(x)
g(x) f(x)

,  where 


A =
x x
x x

and 0 < x < 1, I is an identity matrix. 


∫ (g(x) + 1)sinxdx is equal to

A. 
1

2√ex - 1
- cosec - 1 ex + c

B. 
2

√ex - e - x
- sec - 1 ex + c

C. 
1

2√e2x - 1
+ sec - 1 ex + c

D. none of these

Answer: C

Watch Video Solution

[ ]
[ ]

( )

( )

( )

7. Euler's substitution: 

Integrals of the form ∫R x, √ax2 + bx + c dx are claculated with the aid( )

https://dl.doubtnut.com/l/_gelR55FftEla
https://dl.doubtnut.com/l/_V9PJtRIdS4DN


of one of the following three Euler substitutions: 

i. √ax2 + bx + c = t ± x√a if a > 0 


ii. √ax2 + bx + c = tx ± x√c if c > 0 


iii. √ax2 + bx + c = (x - a)t if ax2 + bx + c = a(x - a)(x - b) i.e., if α is real

root of ax2 + bx + c = 0 


xdx

√7x - 10 - x23 can be evaluated by substituting for x as

A. loge|t + 1|

B. loge|t + 2|

C. 
1

t + 2

D. none of these

Answer: D

Watch Video Solution

8. Euler's substitution: 

Integrals of the form ∫R x, √ax2 + bx + c dx are claculated with the aid( )

https://dl.doubtnut.com/l/_V9PJtRIdS4DN
https://dl.doubtnut.com/l/_5HgbESjjk7fr


of one of the following three Euler substitutions: 

i. √ax2 + bx + c = t ± x√a if a > 0 


ii. √ax2 + bx + c = tx ± x√c if c > 0 


iii. √ax2 + bx + c = (x - a)t if ax2 + bx + c = a(x - a)(x - b) i.e., if α is real

root of ax2 + bx + c = 0 


xdx

√7x - 10 - x23 can be evaluated by substituting for x as

A. x=( 5+ 2 t^2 )/(t^2 +1)

B. x=( 5 - t^2 )/(t^2 +2)

C. x=(2 t^2 - 5 )/(3t^2 -1)

D. none of these

Answer: B

Watch Video Solution

9. Euler's substitution: 

Integrals of the form ∫R x, √ax2 + bx + c dx are claculated with the aid( )

https://dl.doubtnut.com/l/_5HgbESjjk7fr
https://dl.doubtnut.com/l/_jNPd9Ms4vkaN


of one of the following three Euler substitutions: 

i. √ax2 + bx + c = t ± x√a if a > 0 


ii. √ax2 + bx + c = tx ± x√c if c > 0 


iii. √ax2 + bx + c = (x - a)t if ax2 + bx + c = a(x - a)(x - b) i.e., if α is real

root of ax2 + bx + c = 0 


xdx

√7x - 10 - x23 can be evaluated by substituting for x as

A. x =
5 + 2t2

t2 + 1

B. x =
5 - t2

t2 + 2

C. x =
2t2 - 5

3t2 - 1

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jNPd9Ms4vkaN


10. Let f(x) = ∫
x2dx

1 + x2 1 + √1 + x2

and f(0) = 0.  


f(x) is

A. log 1 + √2

B. log 1 + √2 -
π
4

C. log 1 + √2 +
π
4

D. none of these

Answer: B

Watch Video Solution

( )( )

( )

( )

( )

11. Let f(x) = ∫
x2

1 + x2 1 + √1 + x2

dx and f(0) = 0 then f(1) is

A. an increasing function

B. a decreasing function

( )( )

https://dl.doubtnut.com/l/_PSs5yP1tmnBb
https://dl.doubtnut.com/l/_TcjIITPOyhfh


C. a non-monotonic function

D. can't say anything

Answer: A

Watch Video Solution

12. If ∫
x(x - 1)

x2 + 1 (x + 1)√x3 + x2 + x
dx 


=
1
2

loge
√f(x) - 1

√f(x) + 1
- tan - 1√f(x) + C,  then 


The value of f(1) is

A. 1

B. 2

C. 3

D. 4

Answer: C

( )

| |

https://dl.doubtnut.com/l/_TcjIITPOyhfh
https://dl.doubtnut.com/l/_4U9pu5UQLESc


Watch Video Solution

13. If ∫
x(x - 1)

x2 + 1 (x + 1)√x3 + x2 + x
dx 


=
1
2 loge

√f(x) - 1

√f(x) + 1
- tan - 1√f(x) + C,  then 


The value of lim x→ ∞ tan - 1√f(x) is

A. π /2

B. π /4

C. π

D. 2π

Answer: A

Watch Video Solution

( )

| |

14. If a function satisfies the relation

f(x)f′ ′ (x) - f(x)f′ (x) = (f′ (x))2
∀x ∈ R and f(0) = f′ (0) = 1,  then 


https://dl.doubtnut.com/l/_4U9pu5UQLESc
https://dl.doubtnut.com/l/_eCT2b2xwpAEb
https://dl.doubtnut.com/l/_MqJM008exlGI


The value of lim x→ - ∞ f(x) is

A. 
1

√e

B. 
1
e

C. √e

D. e

Answer: B

Watch Video Solution

15. If a function satisfies the relation

f(x)f′ ′ (x) - f(x)f′ (x) = (f′ (x))2
∀x ∈ R and f(0) = f′ (0) = 1,  then 


Number of roots of the equation f(x) = ex is

A. 0

B. 1

C. 2

https://dl.doubtnut.com/l/_MqJM008exlGI
https://dl.doubtnut.com/l/_4YUEzhe6qbv5


D. infinite

Answer: B

Watch Video Solution

16. Consider two differentiable functions f(x), g(x) satisfying 

6∫ f(x)g(x)dx = x6 + 3x4 + 3x2 + c and 2∫
g(x)dx
f(x)

= x2 + c, where f(x) > 0∀x ∈ R

∫ (g(x) - f(x))dx is equal to

A. 
x4

4
-
x2

2
+ x + c

B. 
x4

4
+
x2

2
-
x3

3
+ x + c

C. 
x4

4
-
x3

3
+
x2

2
- x + c

D. 
x4

4 +
x3

3 + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4YUEzhe6qbv5
https://dl.doubtnut.com/l/_E4PXP7XPyOfG
https://dl.doubtnut.com/l/_DM2kMsU76Vna


Exercises Matrix Match Type

17. Consider two differentiable functions f(x), g(x) satisfying 

6∫ f(x)g(x)dx = x6 + 3x4 + 3x2 + c and 2∫
g(x)dx
f(x)

= x2 + c, where f(x) > 0∀x ∈ R

lim x→ 0
log(f(x))
g(x)

=

A. e

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DM2kMsU76Vna


1. Match the following lists: 

 


Watch Video Solution

https://dl.doubtnut.com/l/_jDOvqAM8i1bZ


2. Match the following lists: 

Watch Video Solution

https://dl.doubtnut.com/l/_Y7WZPBlSAHq6


3. Match the following lists: 

Watch Video Solution

https://dl.doubtnut.com/l/_hz8zeDbWAy3Z


4. Consider 

∫
x3 + 3x2 + 2x + 1

√x2 + x + 1
dx 


= ax2 + bx + c √x2 + x + 1 + λ∫
dx

√x2 + x + 1
 


Now, match the following lists and then choose the correct code. 

 


Codes: 

a b c d
(1) q p s r
(2) s p q r
(3) r q p s
(4) q s p r

Watch Video Solution

( )

https://dl.doubtnut.com/l/_RVWO3HE6GCWc


Exercises Numerical Value Type

1. 

Let f(x) = ∫xsinx(1 + xcosx ⋅ Inx + sinx)dx and f
π
2

=
π2

4
. Then the value of co

Watch Video Solution

( )

2. Let g(x) = ∫
1 + 2cosx

(cosx + 2)2dxandg(0) = 0. 
 then the value of 8g
π
2


 is

__________

Watch Video Solution

( )

3. 

Let k(x) = ∫
x2 + 1 dx

3
√x3 + 3x + 6

and k( - 1) =
1
3
√2

. Then the value of k( - 2) is - .

Watch Video Solution

( )

https://dl.doubtnut.com/l/_3XJh6Bc8Nj8o
https://dl.doubtnut.com/l/_VgHRIAsLf42G
https://dl.doubtnut.com/l/_D6B94P803kyy


4. If the value ∫
1 - (cotx)2008

tanx + (cotx)2009dx =
1
k

ln sinkx + coskx + c,then find k.

Watch Video Solution

| |

5. If f(x) = ∫
3x2 + 1

x2 - 1 3
dxandf(0) = 0, 
then the value of 

2
f(2)


is___

Watch Video Solution

( ) | |

6. If f(x) = √x, g(x) = ex - 1, and ∫ fog(x)dx = Afog(x) + Btan - 1(fog(x)) + C,

then A + B is equal to .

Watch Video Solution

7. 

If ∫
2cosx - sinx + λ
cosx + sinx - 2 dx = A In|cosx + sinx - 2| + Bx + C, then the value of A + B +

Watch Video Solution

https://dl.doubtnut.com/l/_8c4TYxgUODUP
https://dl.doubtnut.com/l/_7yEa3D1RP2ky
https://dl.doubtnut.com/l/_uIPk4vPCo9IJ
https://dl.doubtnut.com/l/_m2sUKg2g3IpM


Archives Jee Main Single Correct Answer Type

8. 

If ∫ex
3 + x2 - 1 3x4 + 2x3 + 2x dx = f(x) + C, then the value of f(1) × f( - 1) is - .

Watch Video Solution

( )

9. If f(x) = ∫
dx

x1 / 3 + 2
and f(0) = 12loge2, then the value of f( - 1) is - .

Watch Video Solution

10. 

If I =
∫dx

3
√sin11xcosx

= - A(tanx) -
8

3 + B(tanx) -
2

3 + c, then the value of 4A + B is

Watch Video Solution

https://dl.doubtnut.com/l/_m2sUKg2g3IpM
https://dl.doubtnut.com/l/_eIgUOQWvArWX
https://dl.doubtnut.com/l/_iGceRbvmOnXT
https://dl.doubtnut.com/l/_6RF0lV0s8mXc
https://dl.doubtnut.com/l/_E4OsOgeKIeoe


1. If ∫
5tanx

tanx - 2
dx = x + a In(sinx - 2cosx) + k then a =

A. -1

B. -2

C. 1

D. 2

Answer: D

Watch Video Solution

2. If ∫ f(x)dx = ψ(x), then ∫x5f x3 dx

A. 
1
3 x3Ψ x3 - ∫x2Ψ x3 dx + c

B. 
1
3x

3Ψ x3 - 3∫x3Ψ x3 dx + c

C. 
1
3x

3Ψ x3 - ∫x2Ψ x3 dx + c

D. 
1
3 x3Ψ x3 - ∫x3Ψ x3 dx + c

( )

[ ( ) ( ) ]
( ) ( )
( ) ( )

[ ( ) ( ) ]

https://dl.doubtnut.com/l/_E4OsOgeKIeoe
https://dl.doubtnut.com/l/_BjT9abQdAdfL


Answer: C

Watch Video Solution

3. The integral ∫ 1 + x -
1
x

ex+
1
xdx is equal to

A. (x - 1)ex+
1
x + c

B. xex+
1
x + c

C. (x + 1)ex+
1
x + c

D. -xex+
1
x + c

Answer: B

Watch Video Solution

( )

4. The integral ∫
dx

x2 x4 + 1 3 / 4
equals

( )

https://dl.doubtnut.com/l/_BjT9abQdAdfL
https://dl.doubtnut.com/l/_M4cbWhylH7Ja
https://dl.doubtnut.com/l/_wR4JpJhbglwH


A. 
x4 + 1

x4

1 / 4
+ c

B. x4 + 1 1 / 4 + c

C. - x4 + 1 1 / 4 + c

D. -
x4 + 1

x4

1 / 4
+ c

Answer: D

Watch Video Solution

( )
( )
( )

( )

5. The integral ∫
2x12 + 5x9

x5 + x3 + 1 3
. dx is equal to- 

(A) 
x10

2 x5 + x3 + 1 2
 

(B) 
x5

2 x5 + x3 + 1 2
 

(C) -
x10

2 x5 + x3 + 1 2
 


(D) -
x5

2 x5 + x3 + 1 2

[ ]

( )

( )

( )

( )

https://dl.doubtnut.com/l/_wR4JpJhbglwH
https://dl.doubtnut.com/l/_aBM5nkkX9uam


A. 
x10

2 x5 + x3 + 1 2
+ C

B. 
x5

2 x5 + x3 + 1 2
+ C

C. 
-x10

2 x5 + x3 + 1 2

D. 
-x5

x5 + x3 + 1 2
+ C

Answer: A

Watch Video Solution

( )

( )

( )

( )

6. Let In = ∫ tannxdx, (n > 1). If
 I4 + I6 = atan5x + bx5 + C, Where C is a

constant of integration, then the ordered pair (a, b) is equal to :

A. -
1
5

, 0

B. -
1
5

, 1

C. 
1
5

, 0

( )
( )
( )

https://dl.doubtnut.com/l/_aBM5nkkX9uam
https://dl.doubtnut.com/l/_B930vbFDWbb9


D. 
1
5

, - 1

Answer: C

Watch Video Solution

( )

7. Evaluate:∫  
sin2xcos2x

sin5x + cos3xsin2x + sin3xcos2x + cos5x 2
 dx

A. 
-1

1 + cot3x
+ C

B. 
1

3 1 + tan3x
+ C

C. 
-1

3 1 + tan3x
+ C

D. 
1

1 + cot3x
+ C

Answer: C

Watch Video Solution

( )

( )

( )

https://dl.doubtnut.com/l/_B930vbFDWbb9
https://dl.doubtnut.com/l/_wyQG6fzrIosp


Archives Jee Advanced Single Correct Answer Type

1. The integral ∫
sec2x

(secx + tanx)
9
2

dx
 equals (for some arbitrary constant K
.

-
1

(secx + tanx)
11

2

1
11 -

1
7 (secx + tanx)2 + K

1

(secx + tanx)
1

11

1
11

-
1
7

(secx + tanx)2 + K

-
1

(secx + tanx)
11
2

1
11

+
1
7

(secx + tanx)2 + K

1

(secx + tanx)
11
2

1
11

+
1
7

(secx + tanx)2 + K

A. -
1

(secx + tanx)11 / 2

1
11

-
1
7

(secx + tanx)2 + K

B. 
1

(secx + tanx)1 / 11

1
11

-
1
7

(secx + tanx)2 + K

C. -
1

(secx + tanx)11 / 2

1
11

+
1
7

(secx + tanx)2 + K

D. 
1

(secx + tanx)11 / 2

1
11

+
1
7

(secx + tanx)2 + K

Answer: C

Watch Video Solution

)
{ }

{ }
{ }

{ }

{ }
{ }
{ }

{ }

https://dl.doubtnut.com/l/_dEzYOS1OVxWt


Single Correct Answer Type

1. Evaluate: ∫
cos5x + cos4x

1 - 2cos3x  dx

A. -
sin2x

2 + cosx + C

B. -
sin2x

2 + cosx + C

C. -
cos2x

2 + cosx + C

D. -
sin2x

2 + sinx + C

Answer: D

Watch Video Solution

( )
( )
( )
( )

2. ∫
secx. cosecx

2cotx - secxcosec x
dx is equal to

A. 
1
2

ln|sec2x + tan2x| + C

https://dl.doubtnut.com/l/_dEzYOS1OVxWt
https://dl.doubtnut.com/l/_nfAVnpv5hVaA
https://dl.doubtnut.com/l/_KtwtpjNM2CeM


B. ln|secx + cosec x| + C

C. ln|secx + tanx| + C

D. 
1
2

ln|secx + cosec x| + C

Answer: A

Watch Video Solution

3. Evaluate: ∫
1
x

ln
x

ex
dx =

A. 
1
2
ex - lnx + C

B. 
1
2

lnx - ex + C

C. 
1
2

(lnx)2 - x + C

D. 
ex

2x
+ C

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_KtwtpjNM2CeM
https://dl.doubtnut.com/l/_Je29Ywh7ZtQN


4. Evaluate ∫
(cosx)n - 1

(sinx)n+ 1 dx =  

(A) -
cotnx
n

+ c


(B) -
cotnx
n + 1 + c


(C) 
cotnx
n

+ c 


(D) 
cotnx
n + 1

+ c

A. 
cotnx
n

B. 
-cotn - 1x
n - 1

C. 
-cotnx

n

D. 
cotn - 1x
n - 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Je29Ywh7ZtQN
https://dl.doubtnut.com/l/_QeDm6ywG705L


5. If ∫x26. (x - 1)17. (5x - 3)dx =
x27. (x - 1)18

k
+ C where C is a constant of

integration, then the value of k is equal to

A. 3

B. 6

C. 9

D. 12

Answer: C

Watch Video Solution

6. If ∫
x + cos - 13x

2

√1 - 9x2
dx = A√1 - 9x2 + B cos - 13x 3 + C,  then A-B is

A. 
2
9

B. -
1
9

C. 
1
9

( )
( )

https://dl.doubtnut.com/l/_d3yx4pf9IUEl
https://dl.doubtnut.com/l/_AbUtUBUnFYSr


D. 0

Answer: D

Watch Video Solution

7. If ∫ tan9x dx = f(x) + log|cosx|,  where f(x) is a polynomial of degree n in

tan x, then the value of n is

A. 6

B. 7

C. 8

D. none of these

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_AbUtUBUnFYSr
https://dl.doubtnut.com/l/_chYgXvPt20Et


8. ∫
cosx - sinx + 1 - x

ex + sinx + x
dx = loge(f(x)) + g(x) + C where C is the constant of

integration and f(x) is positive. Then f(x) + g(x) has the value equal to

A. ex + sinx + 2x

B. ex + sinx

C. ex - sinx

D. ex + sinx + x

Answer: B

Watch Video Solution

9. Evaluate:∫
x + x

2
3 + x

1
6

x 1 + x
1
3

dx equals

A. 
3x

2
3

4
+ 6tan - 1 x

1
6 + C

B. 
3x

2
3

2
+ 6tan - 1 x

1
6 + C

( )
( )
( )

https://dl.doubtnut.com/l/_J9a9WugYyf9v
https://dl.doubtnut.com/l/_kzleDVouYZYJ


C. 
3x

2

3

10
+ 6tan - 1 x

1

6 + C

D. 
3x

2

3

5
+ 6tan - 1 x

1

6 + C

Answer: B

Watch Video Solution

( )
( )

10. ∫
ex(x - 2)

x x2 + ex
dx∀x > 0 is equal to

A. ln 1 +
ex

x2 + c

B. ln -
1
2

+
ex

x2 + c

C. ln 2 +
ex

x2 + c

D. ln x +
ex

x2 + c

Answer: A

( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_kzleDVouYZYJ
https://dl.doubtnut.com/l/_PfDGrVsewguE


Watch Video Solution

11. If x2 ≠ nπ - 1, n ∈ N. Then, the value of 

∫x
2sin x2 + 1 - sin2 x2 + 1

2sin x2 + 1 + sin2 x2 + 1
dx is equal to:

A. ln
1
2

sec x2 + 1 + C

B. ln sec
x2 + 1

2
+ C

C. 
1
2

ln sec x2 + 1 + C

D. 
1
2

ln
2

sec x2 + 1
+ C

Answer: B

Watch Video Solution

√ ( ) ( )
( ) ( )

| ( ) |
| ( )|

| ( )|

| ( ) |

https://dl.doubtnut.com/l/_PfDGrVsewguE
https://dl.doubtnut.com/l/_gFFzLxQ24Y3T


12. The value of ∫
cosec x

cos2 1 + logtan.
x
2

dx is

A. - tan 1 + logtan.
x
2 + c

B. sec2 1 + logtan.
x
2 + c

C. tan 1 + logtan.
x
2 + c

D. sin2 1 + logtan.
x
2 + c

Answer: C

Watch Video Solution

( )
( )
( )

( )
( )

13. Evaluate: ∫
dx

x√x6 - 16
=

A. sec.
x3

4
+ c

B. 
1
12sec.

x3

4 + c

https://dl.doubtnut.com/l/_K2cv0jXYlkE0
https://dl.doubtnut.com/l/_WQxz8fsHhpYI


C. 
1
3

sec.
x3

4
+ c

D. none of these

Answer: B

Watch Video Solution

14. ∫
dx

cos(2x)cos(4x)
 is equal to

A. 
1

2√2
log

1 + √2sin2x

1 - √2sin2x
-

1
2

(log|sec2x - tan2x|) + C

B. 
1

2√2
log

1 - √2sin2x

1 + √2sin2x
-

1
2

(log|sec2x - tan2x|) + C

C. 
1

√2
log

1 + √2sin2x

1 - √2sin2x
-

1
2

(log|sec2x - tan2x|) + C

D. none of these

Answer: B

Watch Video Solution

| |
| |

| |

https://dl.doubtnut.com/l/_WQxz8fsHhpYI
https://dl.doubtnut.com/l/_AiyF6CN5BZpA
https://dl.doubtnut.com/l/_fNUY37bJYTLR


15. ∫x2ln x2 + 1 dx is equal to

A. 
2ln x2 + 1

2 x2 + 1
+ C

B. x2 + 1
2ln x2 + 1

ln2 + 1

C. 
x2 + 1 ln2 + 1

2(ln2 + 1)
+ C

D. 
x2 + 1 ln2

2(ln2 + 1)
+ C

Answer: C

Watch Video Solution

( )

( )
( )

( ) ( )

( )

( )

16. If ∫
sinx

sin x -
π
4

dx = Af(x) +
1

√2
log[|sinx - cosx|] + c,  then

A. A =
1

√2
, f(x) = sinx

B. A = √2, f(x) = cosx

( )

https://dl.doubtnut.com/l/_fNUY37bJYTLR
https://dl.doubtnut.com/l/_25fHjXwc4fs1


C. A = √2, f(x) = x

D. A =
1

√2
, f(x) = x

Answer: D

Watch Video Solution

17. Evaluate: ∫
cosx
x

-
x

cosx
sinx dx equals

A. -√xcosx + C

B. √xsinx + C

C. 2√xcosx + C

D. C - 2√xcosx

Answer: C

Watch Video Solution

(√ √ )

https://dl.doubtnut.com/l/_25fHjXwc4fs1
https://dl.doubtnut.com/l/_W50PkPEIQxdH
https://dl.doubtnut.com/l/_JphCurjG5amR


18. Evaluate: ∫
(2x + 1)

x2 + 4x + 1
3 / 2

dx

A. 
x3

x2 + 4x + 1
1 / 2

+ C

B. 
x

x2 + 4x + 1
1 / 2

+ C

C. 
x2

x2 + 4x + 1
1 / 2

+ C

D. 
1

x2 + 4x + 1 1 / 2
+ C

Answer: B

Watch Video Solution

( )

( )

( )

( )

( )

19. If ∫
(2x + 3)dx

x(x + 1)(x + 2)(x + 3) + 1
= C -

1
f(x)

 where f(x) is of the form of 

ax2 + bx + c, then the value of f(1) is

A. 4

B. 5

https://dl.doubtnut.com/l/_JphCurjG5amR
https://dl.doubtnut.com/l/_nUsetJcKeEBu


C. 6

D. none

Answer: B

Watch Video Solution

20. The integral ∫√cotxe√sinx√cosxdx equals

A. 
√tanxe√sinx

√cosx
+ C

B. 2e√sinx + C

C. -
1
2
e√sinx + C

D. 
√cotxe√sinx

2√cosx
+ C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nUsetJcKeEBu
https://dl.doubtnut.com/l/_54i7epg38xqk


21. Evaluate :∫
dx

x√x6 + 1
 equals

A. sec - 1x3 + C

B. 
1
6

log
√x6 + 1 - 1

√x6 + 1 + 1
+ C

C. 
1
3

log
√x3 + 1 - 1

√x3 + 1 + 1
+ C

D. 
1
3

log
√x3 + 1 + 1

√x3 + 1 - 1
+ C

Answer: B

Watch Video Solution

( )
( )
( )

22. ∫
dx

1 + √x 2010
= 2

1

α 1 + √x α
-

1

β 1 + √x β
+ c where 

α, β > 0 then α - β is

A. 1

( ) [ ( ) ( ( )) ]

https://dl.doubtnut.com/l/_lk6828Od1EWt
https://dl.doubtnut.com/l/_LjPjX8sNjvvN


B. 2

C. -1

D. -2

Answer: A

Watch Video Solution

23. ∫
sin

π

4 - x dx

2 + sin2x
= Atan - 1(f(x)) + B, where A, B are contants. Then the

range of Af(x) is

A. [ - 1, 1]

B. - √2, √2

C. [0, 1]

D. [ - 1, 0]

Answer: A

( )

[ ]

https://dl.doubtnut.com/l/_LjPjX8sNjvvN
https://dl.doubtnut.com/l/_f4WG032VT5AI


Watch Video Solution

24. If ∫ x + √x2 + 2dx = A x + √x2 + 2
3 / 2

+
B

x + √x2 + 2
+ c.  then

the value of 3AB is

A. -1

B. -2

C. 1

D. 2

Answer: B

Watch Video Solution

√ { } √

25. ∫
x2 + 1

x√x2 + 2x - 1√1 - x2 - x
dx is equal to

A. 2sin - 1 x -
1
x

+ 2 + c√

https://dl.doubtnut.com/l/_f4WG032VT5AI
https://dl.doubtnut.com/l/_iZybKf1QgzGq
https://dl.doubtnut.com/l/_DavK1dmqnUhb


B. 2cos - 1 x -
1
x

+ 2 + c

C. sin - 1 x -
1
x

+ 2 + c

D. cos - 1 x -
1
x

+ 2 + c

Answer: A

Watch Video Solution

√
√
√

26. ∫
dx

x2√16 - x2
 has the value equal to

A. C -
1
4 tan - 1sec

x
4

B. 
1
4 tan - 1sec

x
4 + C

C. C -
√16 - x2

16x

D. 
√16 - x2

16x
+ C

Answer: C

( )
( )

https://dl.doubtnut.com/l/_DavK1dmqnUhb
https://dl.doubtnut.com/l/_GOHJXQK38lfi


Watch Video Solution

27. Evaluate ∫
tan

π

4 - x

cos2x√tan3x + tan2x + tanx
dx.

A. 2

B. 3

C. 6

D. 8

Answer: C

Watch Video Solution

( )

28. ∫
√1 - x2 - x

√1 - x2 1 + x√1 - x2

dx is

A. 2tan - 1 x + √1 - x2 + c

( )
( )

https://dl.doubtnut.com/l/_GOHJXQK38lfi
https://dl.doubtnut.com/l/_G8tvZWQDIj1s
https://dl.doubtnut.com/l/_Byy2AKvq3yjq


B. tan - 1 x + √1 - x2 + c

C. 2tan - 1 x - √1 - x2 + c

D. 2cot - 1 x + √1 - x2 + c

Answer: A

Watch Video Solution

( )
( )
( )

29. ∫
3x2 + 2x

x6 + 2x5 + x4 + 2x3 + 2x2 + 5
dx =

A. 
1
4 tan - 1 x3 + x2 + 1

2 + c

B. 
1
2 tan - 1 x3 + x2 + 1

2 + c

C. sin - 1 x3 + x2 + 1
2 + c

D. 
1
2 tan - 1 x3 + x2

2 + c

Answer: B

( )
( )

( )
( )

https://dl.doubtnut.com/l/_Byy2AKvq3yjq
https://dl.doubtnut.com/l/_MOIlDe2Nyb2s


Watch Video Solution

30. ∫
dx

1 + √x √ x - x2
 is equal to

A. 2
x

√1 - x
-

1

√1 - x
+ c

B. 2
x

√1 - x
-

1
1 - x

+ c

C. 2
x

1 - x
-

1

√1 - x
+ c

D. 2
x

1 - x
-

1
1 - x

+ c

Answer: C

Watch Video Solution

( ) ( )

(√ )
(√ )
(√ )
(√ )

31. If f(x) = ∫
5x8 + 7x6

x2 + 1 + 2x7 2
dx, (x ≥ 0), and f(0) = 0, then the value of f(1)

is

( )

https://dl.doubtnut.com/l/_MOIlDe2Nyb2s
https://dl.doubtnut.com/l/_h8ds7YWQGJ4X
https://dl.doubtnut.com/l/_Wg4a4xp3lENq


A. -1 /2

B. 1/4

C. 1/2

D. -1 /4

Answer: B

Watch Video Solution

32. If I = ∫
dx

x4√a2 + x2
, then I equals

A. 
1

a4

1
x√a2 + x2 -

1

3x2√a2 + x2 + c

B. 
1

a4

1
x√a2 + x2 -

1

2√x
a2 + x2 3 / 2 + c

C. 
1

a4

1
x√a2 + x2 -

1

3x3 a2 + x2 3 / 2
+ c

D. 
1

a4

1
x√a2 + x2 -

1

3x3√a2 + x2 + c

[ ]
[ ( ) ]
[ ( ) ]
[ ]

https://dl.doubtnut.com/l/_Wg4a4xp3lENq
https://dl.doubtnut.com/l/_62xfDw10IRdp


Answer: C

Watch Video Solution

33. If I = ∫x27 6x2 + 5x + 4 x2 + x + 1 6dx = f(x) + C, then f(x) is equal to

A. 
x4 1 + x + x2 7

7
+ C

B. 
x28 1 + x + x2 7

7
+ C

C. 
x28 1 + x + x2 7

28
+ C

D. None

Answer: B

Watch Video Solution

( )( )

( )

( )

( )

34. ∫
x2(1 - logx)

(logx)4 - x4 dx equals

https://dl.doubtnut.com/l/_62xfDw10IRdp
https://dl.doubtnut.com/l/_dOzKAz3XZLqj
https://dl.doubtnut.com/l/_OEyacsjrnefc


A. 
1
2

ln.
x

lnx
-

1
4

ln ln2x - x2 + C

B. 
1
4

ln
lnx - x
lnx + x

-
1
2

tan - 1 lnx
x

+ C

C. 
1
4

ln
lnx - x
lnx + x

+
1
2

tan - 1 lnx
x

+ C

D. 
1
4

ln
lnx - x
lnx + x

+ tan - 1 lnx
x

+ C

Answer: B

Watch Video Solution

( )

( ) ( )
( ) ( )

( ( ) ( ))

35. ∫
x(x - 1)

x2 + 1 (x + 1)√x3 + x2 + x
=

1
2

log

x +
1
x + 1 - 1

x +
1

x + 1 + 1
- A + c.  


Then the value of A is equal to

A. cos - 1 1 +
1
x

B. tan - 1 x +
1
x

+ 1

C. cot - 1 x +
1
x

( ) | √√ |
√
√
√

https://dl.doubtnut.com/l/_OEyacsjrnefc
https://dl.doubtnut.com/l/_YCnqLxm8AwjZ


D. sin - 1 x +
1
x

+ 1

Answer: B

Watch Video Solution

√

36. ∫
d x3

x3 xn + 1
 equals

A. 
3
n

ln
xn

xn + 1

B. 
1
n

ln
xn

xn + 1

C. 
3
n

ln
xn + 1

xn

D. 3nln
xn+ 1

xn

Answer: A

Watch Video Solution

( )
( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_YCnqLxm8AwjZ
https://dl.doubtnut.com/l/_4agoS9BHYl0C


37. ∫
(x + 1)2dx

x x2 + 1
 is equal to

A. logex + c

B. logex + 2tan - 1x + c

C. loge.
1

x2 + 1
+ c

D. loge x x2 + 1 + c

Answer: B

Watch Video Solution

( )

{ ( )}

38. ∫
x3 - x

1 + x6dx is equal to

A. 
1
6

log.
x4 - x2 + 1

x x2 + 1
+ C

B. 
1
6

tan - 1.
x2 + 1 2

2
+ C

( )
( )

https://dl.doubtnut.com/l/_4agoS9BHYl0C
https://dl.doubtnut.com/l/_muRxP7ighsO8
https://dl.doubtnut.com/l/_qVocyZVoUnCK


C. log.
x4 - x2 + 1

1 + x2 2
+ C

D. tan - 1.
x2 + 1 2

2
+ C

Answer: A

Watch Video Solution

( )
( )

39. ∫
x3 - 1

x4 + 1 (x + 1)
dx is

A. 
1
4

ln 1 + x4 +
1
3

ln 1 + x3 + c

B. sinx ∣ - sinx + C

C. 
1
4

ln 1 + x4 - ln(1 + x) + c

D. 
1
4

ln 1 + x4 + ln(1 + x) + c

Answer: C

Watch Video Solution

( )

( ) ( )

( )
( )

https://dl.doubtnut.com/l/_qVocyZVoUnCK
https://dl.doubtnut.com/l/_rJN2ggiNRdWg


40. The value of ∫
cos3x

sin2x + sinx
dx is equal to

A. loge|sinx| + sinx + C

B. loge|sinx| - sinx + C

C. - loge|sinx| - sinx + C

D. - loge|sinx| + sinx + C

Answer: B

Watch Video Solution

41. ∫
x3 - 1

x3 + x
 dx is equal to:

A. x - loge|x| + loge x2 + 1 - tan - 1x + C

B. x - loge|x| +
1
2

loge x2 + 1 - tan - 1x + C

C. x + loge|x| +
1
2

loge x2 + 1 + tan - 1x + C

D. none of these

( )
( )
( )

https://dl.doubtnut.com/l/_L4RcJxjzZHNU
https://dl.doubtnut.com/l/_RC86sQqoWE18


Answer: B

Watch Video Solution

42. ∫
(2 + secx)secx

(1 + 2secx)2 dx =

A. 
1

2 cosec x+cotx + C

B. 2 cosec x+cotx + C

C. 
1

2 cosec x-cotx + C

D. 2 cosec x-cotx + C

Answer: A

Watch Video Solution

43. If ∫ f(x)dx = g(x) + c and f - 1(x) is differentiable, then ∫ f - 1(x)dx equal to

A. g - 1(x) + C

https://dl.doubtnut.com/l/_RC86sQqoWE18
https://dl.doubtnut.com/l/_amX9fC1ILGYy
https://dl.doubtnut.com/l/_uVuy7BnxMxFn


B. xf - 1 + C

C. xf - 1(x) - g f - 1(x) + C

D. f - 1(x) + C

Answer: C

Watch Video Solution

( )

44. ∫
ecotx

sin2x
(2 ln cosec x + sin2x)dx

A. 2ecotxln|sinx| + c

B. 2etanxln|sinx| + c

C. 2ecotxln|cosx| + c

D. 2etanxln|cosx| + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uVuy7BnxMxFn
https://dl.doubtnut.com/l/_olUtBHmXSSgU


45. ∫
1 - 7cos2x

sin7xcos2x
dx =

f(x)

(sinx)7 + C, then f(x) is equal to

A. sinx

B. cosx

C. tanx

D. cotx

Answer: C

Watch Video Solution

46. If f(x) = ∫ex tan - 1x +
2x

1 + x2 2
dx, f(0) = 0 then the value of f(1) is

A. e
π
4

-
1
2

+ 1

B. e
π
4

+
1
2

+ 1

C. e
π
2

-
1
4

+ 1

( ( ) )
( )
( )
( )

https://dl.doubtnut.com/l/_TUQFd3RcTKrg
https://dl.doubtnut.com/l/_38G1NCilyiM5


D. e - 1 π
4

-
1
2

+ 1

Answer: A

Watch Video Solution

( )

47. ∫
ex(x - 1)(x - lnx)

x2 dx is equal to

A. ex
x - lnx

x
+ c

B. ex
x - lnx + 1

x
+ c

C. ex
x - lnx

x2 + c

D. ex
x - lnx - 1

x
+ c

Answer: D

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_38G1NCilyiM5
https://dl.doubtnut.com/l/_JNdD2n23jnP3


Subjective Type

48. ∫ sin(101x). sin99x dx equals

A. 
sin(100x)(sinx)100

100 + C

B. 
cos(100x)(sinx)100

100
+ C

C. 
cos(100x)(cosx)100

100
+ C

D. 
cos(100x)(cosx)100

100
+ C

Answer: A

Watch Video Solution

( )

1. Evaluate: ∫
(x - 1)2

x4 + x2 + 1
 dx

Watch Video Solution

https://dl.doubtnut.com/l/_T2FCRCijsALO
https://dl.doubtnut.com/l/_YBuFZKNVUNbA


2. Evaluate : ∫
x2 - 4

x4 + 9x2 + 16
dx

Watch Video Solution

3. Evaluate: ∫cos2x ln (1 + tanx)dx

Watch Video Solution

4. Evaluate : ∫sin4x. etan2xdx

Watch Video Solution

5. Evaluate : ∫
loge 1 + sin2x

cos2x
dx

Watch Video Solution

( )

https://dl.doubtnut.com/l/_Wg2XHTLwhqAE
https://dl.doubtnut.com/l/_Yq2jlJQQVYh7
https://dl.doubtnut.com/l/_s3vfBFZTsRFC
https://dl.doubtnut.com/l/_MknrfF9XYFSl


Comprehension Type

6. Evaluate : ∫
xlogex

x2 - 1 3 / 2
dx

Watch Video Solution

( )

1. Let f(x) = ∫
dx

ex + 8e - x + 4e - 3x , g(x) = ∫
dx

e3x + 8ex + 4e - x .  


∫ (f(x) - 2g(x))dx

A. 
1
2

log
ex + 2e - x - 2

ex + 2e - x + 2
+ C

B. 
1

4√3
log

ex - 2e - x - 2√3

ex + 2e - x + 2√3
+ C

C. 
1

2√3
tan - 1 ex - 2e - x

2√3
+ C

D. 
1
2

tan - 1 ex + 2e - x

2
+ C

Answer: D

| |
| |

( )
( )

https://dl.doubtnut.com/l/_NVXTAs2xL0DJ
https://dl.doubtnut.com/l/_KQMZL0zgzmMe


Multiple Correct Answer Type

Watch Video Solution

2. Let f(x) = ∫
dx

ex + 8e - x + 4e - 3x , g(x) = ∫
dx

e3x + 8ex + 4e - x .  


∫ (f(x) - 2g(x))dx

A. 
1

4√3
log

ex - 2e - x - 2√3

ex + 2e - x + 2√3
+ C

B. 
1
2

tan - 1 ex + 2e - x

2
+ C

C. 
1

2√3
tan - 1 ex - 2e - x

2√3
+ C

D. 
1
4

log
ex + 2e - x - 2

ex + 2e - x + 2
+ C

Answer: B

Watch Video Solution

| |
( )

( )
| |

https://dl.doubtnut.com/l/_KQMZL0zgzmMe
https://dl.doubtnut.com/l/_nOncpSIKpfew
https://dl.doubtnut.com/l/_ON8YQXathySB


1. If ∫
e4x - 1

e2x log
e2x + 1

e2x - 1
dx =

t2

2
logt -

t2

4
-
u2

2
logu +

u2

4
+ C,  then

A. (a) u = ex + e - x

B. (b) u = ex - e - x

C. (c) t = ex + e - x

D. (d) t = ex - e - x

Answer: B::C

Watch Video Solution

( )

2. If ∫
xex

√1 + ex
dx = f(x)√1 + ex - 2logg(x) + C, then

A. f(x) = x - 1

B. g(x) =
√1 + ex - 1

√1 + ex + 1

C. g(x) =
√1 + ex + 1

√1 + ex - 1

https://dl.doubtnut.com/l/_ON8YQXathySB
https://dl.doubtnut.com/l/_AewBTKtlkAPS


D. f(x) = 2(x - 2)

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_AewBTKtlkAPS

